CHLAA

54 37“‘%377 744 _9?? | This Booklet contains 44 pages.
T U8 YiTaeRt i deh 7 Wiet 9o doh hel 7 1T |

Do not open this Test Booklet until you are asked to do so.

3| gdier giaent o sl emeror v fau fdei & s @ ug |

Read carefully the Instructions on the Back Cover of this Test Booklet.

e qfERT Hhd
Test Booklet Code

GG

HETYUl 1357 :

1. 3 99 39 vdien gieqert & =gt T@T 8 | S 3TI9ehl qden
gfeqet @i 1 Hg AT, d IW 99 Fhe w AHgES
US-1 U9 U8-2 W hadl /et drd qige 09 & foawor
W |

2. wlienm i oafy 3 e ? U9 witenm yfeqenr H 180 A ¥ |

T4k Yo 4 37 ol & | T Tgl I & fau wdliemeff =t
4 37 feu SEN | IS TeAd I b I FA AT H F R
AR T W | 3ferehay 37 720 ¥ |

3. 39 98 W fyeww sifhd & 1@ W 9 W R @I &

e hae Hiet/wTer At uige U 1 T R |

4. % i 38 wen gicas # Fuifa wom w & w
5. Tl v g W, udienell wet/aie gt | 9d SW un

et Trfrerss o1 erava |ia € | whemeff srow @y z| wden
Yfeaeht Sl o ST &ehd ¢ |

6. 3@ giwreh w1 wha 8 GG | 7 gliftea w= o 5 @

TET GfEqeRt 1 Hohd, ST U9 % UB-2 W BY Tehd & et
3 | 3R I8 fim 2, a1 wdemel gud when gieqe i IW
o o % foru ffterss ot qied oTerTd T |

7. heneff gifraa o 39 I 13 1 W81 7 9 T 37 W

HE o fem 7 @ | wdhene o srgshHie aded
gfedert/ITm v # fyff wom & sififes o= 1 forg |

8. IW T W foheh TR o Tliem 3G <alse WS o T &H
STgHf 737 R |

Important Instructions :
1.

8.

. The test is of 8 hours duration and Test Booklet

. The CODE for this Booklet is GG Make sure that the

The Answer Sheet is inside this Test Booklet. When you
are directed to open the Test Booklet, take out the
Answer Sheet and fill in the particulars on Side-1 and
Side-2 carefully with blue/black ball point pen only.

contains 180 questions. Each question carries 4 marks.
For each correct response, the candidate will get
4 marks. For each incorrect response, one mark will be
deducted from the total scores. The maximum marks are
720.

Use Blue/Black Ball Point Pen only for writing
particulars on this page/marking responses.

Rough work is to be done on the space provided for this
purpose in the Test Booklet only.

On completion of the test, the candidate must
hand over the Answer Sheet to the Invigilator
before leaving the Room/Hall. The candidates are
allowed to take away this Test Booklet with them.

CODE printed on Side-2 of the Answer Sheet is the
same as that on this Test Booklet. In case of discrepancy,
the candidate should immediately report the matter to
the Invigilator for replacement of both the Test Booklet
and the Answer Sheet.

The candidates should ensure that the Answer Sheet is
not folded. Do not make any stray marks on the Answer
Sheet. Do not write your Roll No. anywhere else except
in the specified space in the Test Booklet/Answer Sheet.

Use of white fluid for correction is not permissible on the
Answer Sheet.

\

91 o eigaTe § feret ereawan <t feorfa &, oiorett Tizamtor @t € sifam wran S |

In case of any ambiguity in translation of any question, English version shall be treated as final.

wiereff o1 AW (a2 S7eRi H)

Name of the Candidate (in Capitals) :
3IshHTh

Roll Number : in figures

: 31 |

: Teqt H

:in words

e g (I8 e H) -

Centre of Examination (in Capitals) :

ghereff & gEdTen

Candidate’s Signature :

Facsimile signature stamp of

Centre Superintendent :

Invigilator’s Signature :

faieres & gEATRN :

CHLAA/GG/Page 1

Hindi/English



‘TRdeE’ foherh g ScuTied Bid @ 2
(1) SIHYFHe g
(2) AT g/

ST, % THETE Siahld H IR SHI SEyem

ferem g T o 2

(1) dHreuH

(2) fowmoy &

(3) Sftaroy &

(4) FaH T

@ gad i g

(1) ey Bced N Uh. WIEd — 77599 J2r3a9

(2) haaTH kel qAT A HHIS — oI AU

(3) Ichs e A mutam - Awm .

(4) THH NP — FrHHE ZAA

frafafed # @ ®F-91 g9 777 €9 ° Ak 7 ?

(1) XO &R fom fgior . fegar

(2) dAw=. qH g

(3) ABO T aqgd : gy

(4) TR H TS HIATU : wgfaeedt

g HIH I T

(1) TATSREREEN SO § 9T ofd 8 |

(2) URSHHY S TN TH. Feed™ 3 61 off |

(3) e i w fefem stk gro faesfya femem e
o |

(4) “ggaar’ weg i o Serfor Terga 1 foka |

frafafgas & @ F9-a wm H Sfawa & w9 A
ufferd st H wErEeh Hifed g3 ?

(1) o< 31

(2) TR

(3) TGAE aTeT F=d: A

(4) T fohe

frafefaa & @ frad oo e = #§ Faa s a1
& T BT 8 ?

(1) M

(2) 9

(3) hegd

(4) g wfisfis

Offsets are produced by
(1) Parthenocarpy

(2) Parthenogenesis
(38) Mitotic divisions
(4) Meiotic divisions

The experimental proof for semiconservative
replication of DNA was first shown in a
(1) Plant

(2) Virus
(3) Bacterium
(4) Fungus

Select the correct match :
(1) Matthew Meselson

Pisum sativum

and F. Stahl
(2) Francois Jacob and — Lac operon
Jacques Monod
(3) Alfred Hershey and - TMV
Martha Chase
(4) Alec Jeffreys — Streptococcus
pneumoniae

Which of the following pairs is wrongly
matched ?

(1) XO type sex Grasshopper
Determination
(2) T.H. Morgan Linkage

(3) ABO blood grouping
(4) Starch synthesis in pea

Co-dominance

Multiple alleles

Select the correct statement :
(1) Spliceosomes take part in translation.
(2) Transduction was discovered by S. Altman.

(3) Punnett square was developed by a British
scientist.

(4)  Franklin Stahl coined the term “linkage”.

Which of the following has proved helpful in
preserving pollen as fossils ?

(1) Oil content

(2) Sporopollenin

(3) Cellulosic intine

(4) Pollenkitt

Which of the following flowers only once in its
life-time ?

(1) Mango

(2) Papaya

(3) Jackfruit

(4) Bamboo species

CHLAA/GG/Page 2

TF T o T8 UM / SPACE FOR ROUGH WORK

Hindi/English



8.

10.

11.

12.

13.

Uifes e AR (PCR) H =N &1 @&l A
CRIE

(1) Torepdieto, foeaon, swiem

(2) TorpciieRtu, atfer, foea

(3) 3rfieH, faeawor, faehdien

(4) Towawon, fospeiieton, SFieH

g 3T o fofu TafireRd: ®Uiaia Sfai o
Yadd % SR § GIEAT o oA o (oI YA H hIF-A1
TS IR B 2

(1) Al giEed TgEgM afbfd (RCGM)

(2) eTafies ARt gear afifa (GEAC)

(3) aeifies wa SNenfieh STgEY™ Ui (CSIR)

(4) 9N AYfETH sHe™ 9Rg (ICMR)

HHE TR § E.TA.T. & Th Ihg o HavH o g
frfafea § & F-a1 deet gmw=a: TgEd fhar S
2?

(1) A®N
(2) pBR 322
(3) TivrsHs

(4) EEE (999 93H)

TEUSER FHHE 3R WAl g et g @ 3wk
@ i fomr srgefta o StewErgAi % ITFNT H R
g1 AT B ?

(1) Sg-37q=e

(2) SA9-3M9Y
(3) SIS (S EEaT)
(4) J9-3gEA

U faesft wrat grn ameaa f w987 fhe W U
(wehear) Toparm o o, wrarfy O fored wia A o wHy
g foemm 2 | ¥ fored graf 2 2

(1) omf o=

(2) wTEHdt

(3) wreIt AR

(4) Co-667

@gT At i g :

(1) dw=. qH —  ORGhHT

(2) ft. Hewd —  EYTT

(3) Fyx 3wt S —  fewet g
(4) TEATEH  ENERE L

10.

11.

12.

13.

The correct order of steps in Polymerase Chain
Reaction (PCR) is

(1) Denaturation, Extension, Annealing
(2) Denaturation, Annealing, Extension
(3) Annealing, Extension, Denaturation
(4) Extension, Denaturation, Annealing

In India, the organisation responsible for
assessing the safety of introducing genetically
modified organisms for public use is

(1) Research Committee on Genetic
Manipulation (RCGM)

(2) Genetic Engineering Appraisal Committee
(GEAC)

(3) Council for Scientific and Industrial
Research (CSIR)

(4) Indian Council of Medical Research (ICMR)

Which of the following is commonly used as a
vector for introducing a DNA fragment in human
lymphocytes ?

(1) A phage

(2) pBR 322

(3) Tiplasmid

(4) Retrovirus

Use of bioresources by multinational companies
and organisations without authorisation from the
concerned country and its people is called

(1) Biodegradation
(2) Bioexploitation
(3) Biopiracy

(4) Bio-infringement

A ‘new’ variety of rice was patented by a foreign
company, though such varieties have been
present in India for a long time. This is related to

(1) Lerma Rojo
(2) Basmati
(8) Sharbati Sonora

(4) Co-667

Select the correct match :

(1) T.H. Morgan — Transduction
(2) G. Mendel — Transformation
(3) Fgx Recessive parent — Dihybrid cross

(4) Ribozyme — Nucleic acid
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14.

15.

16.

17.

18.

19.

20.

21.

Hige & fou freafafead § & w981 98 2 2

(1) I8 dp o= H 9T o 2 |

(2) ¥g TEEHA RNA HIdw0l s framsfia €oe
2

(3) wffvafmwa g

(4) fanifsa a1 Sifterieti § o2 wgs 81d 8 |

oot |ty fped wrT ofar 8 2
(1) Sfaropsti § vaoq §

(2) UHHT 77 & Hishgor §

(3) et gfeahrsti & s |
(4) oHE1 A o HAUHA I

ffafies & 9 -1 T THR-ETAN hl T
STf¥fsran &1 3cte 787 2 2

(1) NADPH

(2) Oxygen

(3) NADH

(4) ATP

Frafafad # & ®F-81 T qdehgehl 787 @ ?
(1) Jiers

(2)  3EACIRET

(3) HIEHIGFIRTT

(4) dF0aTSiST

et Y fasfierar ferem gwfea 757 gt 2
(1) O, Figa &

(2) CO,Higa &

(3) UM

(4) qAUHE I

U % G firererires wrafeas Tg S § ?
(1) el 3R BiEhe

(2) EIH R FTESHFIA

(3) IS TR Al

(4) wrEeifFaa R Bfoe

FHa TS TORGAT hT JFRUTT fohe TTawen H TR
B @ ?

(1) drTfsed

(2) FIHUg

3) foug

(4) TYcUE

HTH <l Ueit # Y B 8 2

(1) SRR
(2) QAR

(3) JFREHR
(4) SIATHR

14.

15.

16.

17.

18.

19.

20.

21.

Which of the following is true for nucleolus ?
(1) It takes part in spindle formation.

(2) It is a site for active ribosomal RNA
synthesis.

(3) Itis a membrane-bound structure.

(4) Larger nucleoli are present in dividing cells.
The Golgi complex participates in

(1) Respiration in bacteria

(2) Activation of amino acid

(3) Formation of secretory vesicles

(4) Fatty acid breakdown

Which of the following is not a product of light
reaction of photosynthesis ?

(1) NADPH

(2) Oxygen

(3) NADH

(4) ATP

Which among the following is not a prokaryote ?
(1) Nostoc

(2) Oscillatoria

(83) Mycobacterium

(4) Saccharomyces

Stomatal movement is not affected by

(1)  Og concentration

(2) COgy concentration

(3) Light

(4) Temperature

The two functional groups characteristic of
sugars are

(1) carbonyl and phosphate

(2) carbonyl and hydroxyl

(3) carbonyl and methyl

(4) hydroxyl and methyl

The stage during which separation of the paired
homologous chromosomes begins is

(1) Diakinesis

(2) Zygotene

(3) Diplotene

(4) Pachytene

Stomata in grass leaf are

(1) Rectangular

(2) Barrel shaped

(3) Kidney shaped

(4) Dumb-bell shaped
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22.

23.

24.

25.

Frafafea 8 & wH-a1 7e77 w9 ° gafad 7 2
(1) < e —  gRRET
(2) UHHIETH e —  FARAT

(3) fopomfies wereliemy) — o e

(4) TUHBINNH JWh  —  GHTABHNFT

T I 4 & T8 Al 1 T 11 S wel & e hifse
3t f= feu T fashedi # @ @E? fasew w1 =
Hifsu

&aryq 1 T g IT
a. TGO i 9 qiedl 3R St
U 1 Teh LM |
b ﬂn_\:ﬁ i1 Q%?ﬁaﬁqﬁnémﬁmﬁ?ﬁ
1 fafagees T #d gy SR
3T TgEH I g & faw
e quM Fd g TH g |
c. EUEEE il UH TF Wl 9y T B
g@THt 37T TEER 79 T
U X @1 AT R |
d. duE  iv. e g Smm s g
(SheTeATT) 3T 37 faehew B1a & S
fafir afent <t vg=m & °

TEF 24 7 |
a b c d

(1) i iv i i
(2 i iv i ii
(3) i i i iv
4 i iv i i
guer WrTehvT ferem g 8 2
(1) 3™

(2) wz7E

(3) TEHhd

(4) T

frfafgd & & fopad sraeucrem qu1 SdifaweT
% q¥ETq SeY] Sfesiid ®9 H 3799 BId @ ?

(1) GRFT

2) I

(3) SR

(4)  =RIETRT

22,

23.

24.

25.

Which one is wrongly matched ?

(1) Gemma cups —  Marchantia

Chlorella
Brown algae

(2)  Unicellular organism —
(3) Biflagellate zoospores —

(4)  Uniflagellate gametes — Polysiphonia

Match the items given in Column I with those in
Column II and select the correct option given
below :

Column 11

It is a place having a

Column I

a. Herbarium i.
collection of preserved
plants and animals.

A list that enumerates
methodically all the
species found in an area
with brief description
aiding identification.

c. Museum iii. Is a place where dried and
pressed plant specimens
mounted on sheets are
kept.

d. Catalogue iv. A booklet containing a list
of characters and their
alternates which are
helpful in identification of

various taxa.

a b c d
() il iv iii i
(2) il iv i ii
(3) it ii i iv
4) i iv iii ii

Winged pollen grains are present in

(1) Mango
(2) Pinus
3) Cycas

(4) Mustard

After karyogamy followed by meiosis, spores are
produced exogenously in

(1) Agaricus

(2)  Saccharomyces

(3) Alternaria

(4) Neurospora
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26.

27.

28.

29.

30.

31.

32.

forat yepTe-ERNY # TS 7gT Feherdt 2

(1) Gissg

2) &7

(38) Tii®

(4) W9 Tew SFAfET

e e w2 2

(1) S R JHb! I Teh g % HY TG

(2) ImH GoA IR BrEeE

(3) U T I o &l YT hrgehl b AT TATH

(4) Th T Al b & T Fwh b1 i A2 *
1Y HAT

frafafaa @ @ -1 o= SRRt § Thifd s

T@H % o Ieer 2

(1) urefrm

(2) Hfcsrm

(3) wifesm

(4) A

fFrafafga o @ ®-51 ey Iy 6 T S & a1

T fehe ey quitan 2, Frad i off th-get & for

AT e =5k U1 g7 L ThaT ?

(1) el

(2) T

(3) FoHl

4) grfeer

T HUT HT TR § N T g@ ArseeH § fe
AU T WUSHOT {3l T T B 2

(1) -196°C

(2) -160°C

(3) -80°C

(4) -120°C

HIREHR Y96 § NAD* 31 ftent 91 @ ?

(1) ggq.ﬁ.ﬁ.ﬁﬁﬁw%m@:ﬁ?@maﬁﬁ
|

(2) ggmmmaw%%qaﬁnwﬁm
|

(3) UE Ueh SoAG dTEh o &Y W HE Hdl B |

(4) I8 Ueh T~aTSH o &9 T H1 T 8 |

qTeql g I8 k1 Ay g @ @ fem w9 4
BT R ?

(1) ¥Had a

(2) i 3R % gt

(3) ®E

(4) Wi

26.

27.

28.

30.

31.

32.

Oxygen is not produced during photosynthesis by

(1) Cycas
(2) Chara
(3) Nostoc

(4) Green sulphur bacteria

Double fertilization is

(1) Fusion of two male gametes with one egg

(2) Syngamy and triple fusion

(3) Fusion of one male gamete with two polar
nuclei

(4) Fusion of two male gametes of a pollen tube
with two different eggs

Which of the following elements is responsible for

maintaining turgor in cells ?

(1) Potassium

(2) Calcium

(3)  Sodium

(4) Magnesium

Which one of the following plants shows a very

close relationship with a species of moth, where

none of the two can complete its life cycle without
the other ?

(1) Banana

(2) Viola

(3)  Yucca

(4) Hydrilla

Pollen grains can be stored for several years in
liquid nitrogen having a temperature of

(1) -196°C

(2) -160°C
(3) -80°C
(4) -120°C
What is the role of NAD' in cellular

respiration ?
(1) Itis a nucleotide source for ATP synthesis.

(2) Itis the final electron acceptor for anaerobic
respiration.

(3) It functions as an electron carrier.
(4) It functions as an enzyme.

In which of the following forms is iron absorbed
by plants ?

(1) Free element

(2) Both ferric and ferrous
(8) Ferrous

(4) Ferric
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33.

34.

35.

36.

37.

38.

fpa w2 2

(1) qEUEE H 98 TWE S Sfig B T % foe
=1

(2) @?WW@WWW%
L&dl

(3) o8 Wifcieh T W&l Ueh SHagrl a1 3

(4) g & gaferor & @uft Sfes s

frefafed 3 @ ®F- T fdias 9w 2 2

(1) SO,

(2) Og

(3) CO,

4) CO

Fefadt & o Srfuma B 2

(1) A i Bl o1l AT hl TE&T

(2) Ueh @™ T =Afcedl o AW aTedl hl TE

(3) SHI

(4) AL

forva 3o feaw e T STaT B 2

(1) 16 faarr

(2) 22 37

(3) 213w

(4) 53

Frafafga stiest & form g o1 witfeafadm ftfis

e ek ST 2
foeffore Susierar : 120 g
i UM : 60 g
1R 3cUeh : 10 g

(1) o = Hen flfis

(2) StemEmET 1 Hen fRfis

(3) St 1 e

(4) ST HT 3ol fRifre

THaIEed W, fH % fashdiewr e smfvaes
i i fogfm o fafafge & @ s o=
IUTH % &Y F HE BT 8 ?

(1) Fe

(2) ATFHNH

(3) Cl

(4) hIeH

33.

34.

35.

36.

37.

38.

Niche is
(1) the range of temperature that the organism
needs to live

(2) the functional role played by the organism
where it lives

(3) the physical space where an organism lives
(4) all the biological factors in the organism’s
environment

Which of the following is a secondary pollutant ?

(1) SO,
@ Oy
3) CO,
4) CO

Natality refers to

(1) Number of individuals leaving the habitat
(2) Number of individuals entering a habitat
(3) Birth rate

(4) Death rate

World Ozone Day is celebrated on
(1) 16 September
@2 22" April
(3) 21 April
(4) 5% June
What type of ecological pyramid would be
obtained with the following data ?
Secondary consumer : 120 g
Primary consumer : 60 g
Primary producer : 10 g
(1) Upright pyramid of numbers
(2) Upright pyramid of biomass
(3) Pyramid of energy
(4) Inverted pyramid of biomass
In stratosphere, which of the following elements

acts as a catalyst in degradation of ozone and
release of molecular oxygen ?

(1) Fe
(2) Oxygen
3 C
(4) Carbon
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39.

40.

41.

42.

43.

44.

45.

ot ufgai st gt § ?
(1) Jegpe

(2) ST=aEcaE

(3) iy

(4) STRIcd=n

92 U1eY -4 7 TH fgdtae gig oSl 0 foopa =

et 2

(1) Sipar

(2) WIShed

(3) T TSt

4) 9™

v fore Bt § 2

(1) wEEr gredt §

(2) SomHH Segig §

(3) TIGHA-ICATTS STAIgfrg §

(4) TR H

STehtehe, fehdeRT ®UTRUT & ?

(1) Hgem qd

(2) Whe

(3) sraETie qa

(4) q1

frfafgd o & H-w1 Foq @l 8 ?

(1) TEeed AFasist 7 |

(2) @rE®g IR gy AT § HENuRT a4 SRmied
B E |

(3) fRrcifoder tw fawmelem awen 7, w@fe
GodlfF97 T THSIST] 9Tl 7 |

(4) SRl | deme sver fufa gr afieg
& B |

AT HI Bl AT

(1) THUSHSHE # qey g 3R @ T80 H 6l
AT F

(2) " B Blgw @i Sasral $ s |
AHURIE Teh AFATE § |

(3) R & WY SfFfeamEEdT ¥ 7 |

(4) <haehi 3T U SATd o He=di d Hifvren fufa
39T gt 8 |

fefioraeht 7 8 fecfiaes Sgem o weiiew formd 3caa
AR 2

(1) A

(2) wweft fawsn

(3) TaEd Tl

(4) ey favysan

39.

40.

41.

42.

43.

44.

45.

Casparian strips occur in
(1) Cortex

(2) Endodermis

(3) Pericycle

(4) Epidermis

Plants having little or no secondary growth are
(1) Conifers

(2) Cycads

(3) Deciduous angiosperms

(4) Grasses

Pneumatophores occur in

(1) Carnivorous plants

(2) Submerged hydrophytes
(3) Free-floating hydrophytes
(4) Halophytes

Sweet potato is a modified
(1) Tap root

(2) Rhizome

(3) Adventitious root

(4) Stem

Which of the following statements is correct ?
(1) Horsetails are gymnosperms.

(2) Stems are usually unbranched in both
Cycas and Cedrus.

(8) Selaginella is heterosporous, while Salvinia
is homosporous.

(4) Ovules are not enclosed by ovary wall in
gymnosperms.

Select the wrong statement :

(1) Pseudopodia are locomotory and feeding
structures in Sporozoans.

(2) Mitochondria are the powerhouse of the cell
in all kingdoms except Monera.

(83) Mushrooms belong to Basidiomycetes.

(4) Cell wall is present in members of Fungi
and Plantae.

Secondary xylem and phloem in dicot stem are
produced by

(1) Phellogen

(2) Axillary meristems
(8) Vascular cambium
(4) Apical meristems
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46.

47.

ey 1 o € TS 9e o1 wqe 11 < el 8 fres i
IR f= few MU fowmedi & @ @E? fasey w1 T

I -
Lary [

a. ’E’Bﬂﬁ'ﬂﬁm 1.

Ty I1
et | Ffeh I
HUE B

b. T ii. g 4 foreefcra @@l &
fiug
c. gFhE g iii. =1 H TgEehdT

iv. T3 H To[hIE &1 BT

a b c d
1) i iii i iv
(2) iv i ii iii
3 i ii iii iv
(4) iii ii iv i

ey 1 8 &) 78 9e o1 &qwv 11 6 wa) 9 frer Shife
3t fiw few U fahedt @ ¥ &gt foaew &1 WA
i

TTFy [
(F7)

a. offoged Fered i
b. T 1 HGW ii.

Ty 11
(3cGS7 T BT HIT)

T T
TaTteft

c. TIAH AWHEA il TR
d. TF H EHEU iv. Herdift shfvreht
v. oHioey gafad afere
a b c d
1 v iv i ii
2 v iv i iii
(3) iv i ii iii
4 v v ii iii

46.

417.

Match the items given in Column I with those in
Column II and select the correct option given

below :
Column I Column I
a.  Glycosuria i. Accumulation of uric
acid in joints
b. Gout ii. Mass of crystallised
salts within the kidney
c. Renalcalculi iii. Inflammation in
glomeruli
d. Glomerular iv. Presence of glucose in
nephritis urine
a b c d
(1) i iii i iv
(2) iv i ii iii
3 i ii iii iv
(4) iii ii iv i

Match the items given in Column I with those in

Column IT and select the correct option given

below :
Column I Column II
(Function) (Part of Excretory
System,)
a.  Ultrafiltration i. Henle’s loop
b. Concentration ii. Ureter
of urine
c.  Transport of iii. Urinary bladder
urine
d. Storage of urine iv. Malpighian
corpuscle
v. Proximal
convoluted tubule
a b c d
1 v iv i i
2) v iv i iii
3) iv i i iii
(4) iv v il 1ii
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48.

49.

50.

51.

52.

53.

Fr=fefiga et o & 3Iereen § ¥ 7e7d faseq
T =TI HINT :

(1) <NEE, A Td =al 1 Afedsh
(2) SATFIIH, TTES T HH 6l 3G
(3) =WIGE, A Td =idl &6

(4) Y, TETES T Hidl o SIS
Freafafaa § @ wi-an saufaen tn 757 2 2
(1) TASTEH I

2) fafefam

(3) ®uJ wfersmy

(4) wGrfefag

Frafafga siftraentt § @ SH-8 a7=7 § Sfw ot &t
ST’ Sl gd 8 2

TTferar

RERERIEGI

BRI

31qul goqTferat

CESIEIENIUIT

(1) b,dU e

(2) a,cTde

(3) abTWec

(4) b,cQEie

39 % G@ W EAU W IR S UINh &l
foreht gfig < T BN 7 2

(1) foerftd By,

2) foafm E

(3) faarfim A

(4) feafm D

I HIGH ok YU hI Y TGEAT T GHEA
foreeRT 3TEA & ?

(1) fEd fawm

(2) 3Tt fafero

(3) deIwydr
(4) GHESTAAr

fre T H west g Haid O] % hRUT TRl
arfef o ferepredt MY Icq BT B 2

(1) fored o

(2) srffstfim

(3) UmhRNUfEE

(4) uferkfufm

°© po TP

48.

49.

50.

51.

52.

53.

Among the following sets of examples for
divergent evolution, select the incorrect option :

(1)

Brain of bat, man and cheetah

(2) Eye of octopus, bat and man
(3) Heart of bat, man and cheetah
(4) Forelimbs of man, bat and cheetah

Which of the following is not an autoimmune
disease ?

(1) Alzheimer’s disease
(2) Vitiligo

(3) Rheumatoid arthritis
(4) Psoriasis

Which of the following characteristics represent
‘Inheritance of blood groups’ in humans ?

a. Dominance

b Co-dominance

c. Multiple allele

d. Incomplete dominance
e Polygenic inheritance

(D

b,d and e
(2) a,cande
3) a,bandc
(4) b,cande

Conversion of milk to curd improves its
nutritional value by increasing the amount of

(1) Vitamin By,

(2) Vitamin E
(3) Vitamin A
(4) Vitamin D

The similarity of bone structure in the forelimbs
of many vertebrates is an example of

(1) Convergent evolution
(2) Adaptive radiation
(3) Analogy

(4) Homology

In which disease does mosquito transmitted

pathogen cause chronic inflammation of
lymphatic vessels ?

(1) Ringworm disease

(2) Amoebiasis

(3) Ascariasis

(4) Elephantiasis
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54.

55.

56.

57.

58.

59.

freffad Srgall # & BH-Y =g SRR 78T B ?
(1) =Yg

(2) TRI%

(3) e

(4) Hgsm

frefafea & & SF-a1 Sg gwardt 787 2 2
(1) g

©2) e

(3) @

(4) AwTa

f=feafiga # @ F9-9 F9 | SRl H TgAH qe
Hiepla ¥ L 8 ?

(1) T& AR 3ese Hied 30 9@

(2) e I ufeufa

(3) U=O I i Iuredfd

(4) & I @ W AT & AR kI Uy Hi
3uferfa

Frafafed & @ -9 9 qg@rRl § g 3cqEs &
Y W AR ?

(1) GESFIRET

(2) FAHESH
(3) sEH

(4) SEATRASTCE

%

fafauem s wfi diersert @ form yor fim € 2

(1) 3 R =1 gehed & T gery =1 T R @

(2) T < THR & hgh BIA 3

(3) 3 rfaftera gt 1 Frepren & fow g
gt Bt 8

(4) I T & foru Femfirest 1 T a8

FREh! FE b I Fq3Tl ! GG HIWC S 3T
A 9 ° i w e g srfvrafera €

(1) ue

(2) aAifeeaefis

(3) difern

(4) UfeRferRm

54.

55.

56.

57.

58.

59.

Which of the following animals does not undergo
metamorphosis ?

(1) Moth

(2) Starfish

(3) Tunicate
(4) Earthworm

Which one
homeotherm ?

(1) Camelus
(2) Psittacula
(3) Chelone

of these animals is not a

(4) Macropus

Which of the following features is used to identify
a male cockroach from a female cockroach ?

(1) Forewings with darker tegmina

(2) Presence of anal cerci

(3) Presence of caudal styles

(4) Presence of a boat shaped sternum on the
9" abdominal segment

Which of the following organisms are known as

chief producers in the oceans ?

(1) Cyanobacteria

(2) Euglenoids

(3) Diatoms

(4) Dinoflagellates

Ciliates differ from all other protozoans in
(1) using pseudopodia for capturing prey
(2) having two types of nuclei

(3) having a contractile vacuole for removing
excess water

(4) using flagella for locomotion

Identify the vertebrate group of animals
characterized by crop and gizzard in its digestive
system.

(1) Aves

(2) Osteichthyes
(3) Reptilia

(4) Amphibia

CHLAA/GG/Page 11

TF T o T8 UM / SPACE FOR ROUGH WORK

Hindi/English



60. Tl ! SEC W & U 90 98 gHH Fifad

61.

62.

63.

w7 2

(1) hCG, hPL, ISR, TESH

(2) hCG, INENH, TENH, '('LdolchTré*Tss
(3) hCG, hPL, t&eieH, ffeam, srifeaertam
(4) hCG, hPL, YiSiEeis, Tetfaed

TR ‘T’
(1) wHIUD® I
(2) U wvE-fg My B |

(3) TGl H TEISH hl Wgdl H FGl B W
STSIcaT hl Ushd! 2 |

(4) TV T TEISH UTEl hl Ta%g hidl & Td 3Tel
o 9T T Tehell & |

IR YO1 1 YurETe ot oo foped sl @ 2
(1) HEASTER T Y

(2) TRl Ud ITdEcal
(3) AaEcadl Ud HEISER

(4) TR & HEISTHER

RIS T YEIUE (TAHTRA) § o= 37t & ?

(1) IEFIUHA § SERIOSTE W1 BTell ohifSrehren &
WehoRs Afahien H it # OHeA B R,
ek YhIUE H Yh1Y] S § |

(2) S A LRI G E, Selh YA H
YGRS HT WIS hIRERIRT H IEheh
AfereRtatt 1 ekt | WA a1 B |

(3) IGPIUGHA H IERIY] §9d 8, Safh YERIEE
RIS S & |

(4) YIS H YR S E, ik YR A
1] §d B |

60.

61.

62.

63.

Hormones secreted by the placenta to maintain

pregnancy are

(1)
(2)

3
(4)

hCG, hPL, progestogens, estrogens

hCG, progestogens, estrogens,
glucocorticoids

hCG, hPL, estrogens, relaxin, oxytocin
hCG, hPL, progestogens, prolactin

The contraceptive ‘SAHELT

(D
(2)
3

4)

is an IUD.

is a post-coital contraceptive.

increases the concentration of estrogen and
prevents ovulation in females.

blocks estrogen receptors in the uterus,

preventing eggs from getting implanted.

The amnion of mammalian embryo is derived

from

(D
(2)
6))
4)

The difference between spermiogenesis

mesoderm and trophoblast
ectoderm and endoderm
endoderm and mesoderm

ectoderm and mesoderm

and

spermiation is

(1)

(2)

3

4)

In spermiogenesis spermatozoa from sertoli
into the

seminiferous tubules, while in spermiation

cells are released cavity of

spermatozoa are formed.

In spermiogenesis spermatozoa are formed,

while in spermiation spermatozoa are
released from sertoli cells into the cavity of

seminiferous tubules.

In spermiogenesis spermatozoa are formed,

while in spermiation spermatids are

formed.

In spermiogenesis spermatids are formed,

while in spermiation spermatozoa are

formed.
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64.

65.

66.

67.

68.

T o1 I Tedl g3 e J

(1) SFF&W U9 SH-9d oafse @& § et '
2

(2) TAYd SAfse Fem safeeat & %A & 2 |

(3) e S SRR Afsedi | %7 Bid & |

(4) Y e S Afedt 9 31fosh 2d 2 |

“en” TR g G DY % form W @ gred Bl R 2
(1) Feid
(2) ufwi &
(3) T
(4) FA "

T I H € TS Al o &R 11 bl wel § e hifs
R A= feu U fomedi @ @ @gt fawew =1 w4

HifS
&y [ &y 11

a. U i. UV-B fafero

b. &fed oefha i, S

c. Temrad (VN sEeE) il 99 dgig

d. FuEd iv. smufirse faem
a b c d

(1) i v i ii

(2) i ii iv iii

(3) i iii iv ii

(4) i i iii iv

Ffafea & 9 fferean fagm & wfasifas & 3eae
fq wmfee &1 HH-H TReAiw Bha g w@m
STt 8 2

(1) OEsffean

(2) uwHAAEH

(3) FEIIeRIT

(4) eI

frfafea & @ wF-an Sera™ waw’ § 787 e 2
(1) aH=fds ITH

(2) o9 ®

(3) ufe 3uaq

(4) TSfT aHHl qrh

64.

65.

66.

67.

68.

In a growing population of a country,

(1) reproductive and pre-reproductive
individuals are equal in number.

(2) pre-reproductive individuals are less than
the reproductive individuals.

(38) reproductive individuals are less than the
post-reproductive individuals.

(4) pre-reproductive individuals are more than
the reproductive individuals.

Which part of poppy plant is used to obtain the
drug “Smack” ?

(1) Roots
(2) Leaves
(3) Latex

(4) Flowers

Match the items given in Column I with those in
Column IT and select the correct option given
below :

Column I Column I
a. Eutrophication i. UV-B radiation
b.  Sanitary landfill ii. Deforestation
Snow blindness iii. Nutrient
enrichment

d. Jhum cultivation iv. Waste disposal

a b c d
(1) it iv i ii
2) i ii iv iii
3 i iii iv ii
4) ii i iii iv
Which one of the following population

interactions is widely used in medical science for
the production of antibiotics ?

(1) Parasitism
(2) Amensalism
(8) Mutualism

(4) Commensalism

All of the following are included in ‘Ex-situ
conservation’ except

(1) Botanical gardens
(2) Seed banks

(8) Sacred groves

(4) Wildlife safari parks
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69.

70.

71.

72.

frafafaa @ @ s J6t Hifvend sy ' 3
T3 § Wgg hidl & ?

(1) e (Mecie) IR

(2) T wifdreRTd

(3) ToISHT SHITTHY

(4) YT HIfHT

ey 18 &) 78 Hel o1 w11 h 9e 8 firem Fifvg
IR = few MU fowmewt @ @ @E? famew w1 =

HIT

ey [ &y 11

a.  WIEfSANE i qUEelt @qe

b. TAGRH ii. T Yerehl

c W? iii.  wfceen fsanfafe
a b c

1 i iii ii

(2 i iii i

3 i ii iii

(4) iii ii i

hepTel URf e | hicWW W@yl & RIih I8
(1) UfFed dq @ arte s ol s o e @ |

(2) WA | g IR Ufded dg %k wed ey
fomtor =61 Tkt B |

(3) A Tty ¥ Suet 38 foramefia s 8 |
(4) T § due UdeT & afsha woa & e

I g1 1 & HIERE % o |
frafafad & @ e vaud faer 1 3 @
g2
(1) wigfasa
(2) aTawhIfd
(3) fafcrepmrrar
4) uwafEE

69.

70.

71.

72.

Which of the following gastric cells indirectly
help in erythropoiesis ?

(1) Goblet cells

(2) Parietal cells

(3) Mucous cells

(4)  Chief cells

Match the items given in Column I with those in

Column II and select the correct option given

below :
Column 1 Column I1

a. Fibrinogen 1. Osmotic balance

b.  Globulin ii.  Blood clotting

c.  Albumin iii.  Defence mechanism
a b c

1 i iii ii

(2) i iii i

3) i ii iii

(4) iii ii i

Calcium is important in skeletal muscle

contraction because it

(1) detaches the myosin head from the actin
filament.

(2) prevents the formation of bonds between
the myosin cross bridges and the actin
filament.

(38) activates the myosin ATPase by binding to
it.

(4) binds to troponin to remove the masking of
active sites on actin for myosin.

Which

respiratory disorder ?

of the following is an occupational

(1) Botulism

(2) Emphysema
(3) Silicosis

(4) Anthracis
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73.

74.

75.

76.

fferfaa & @ g g Wi sret @ ogeqs B
2?

(1) uwgIrs3ATa

(2) tufeeeta

(3) UFEEEA

(4) TEHE

fr=feafiga § @ H9-H ST rdar &9 39S HE °
TeTd &9 9 Ifd g ?

(1) EENgdqd . Torem BT 1 3caTed W@
YU, & qAT AT
o T

: oW Td i YHfEdSE Mt
I SIS aTel qqaii <l gl |

: dqeT o & A1 ufeash &

fofirer & <l oToE o Sired

&, T w1 FreEor e

=1 fafa wa |

(2) U hAEH

(3) fafas a3

(4) WgE AN

fefafes & @ frm o 1 g & ge
{Hh & ?

(1) TEISH Td HATERIES BiHH

(2) TUATHES BHMA TE WA

(3) ISR T VeeledlH

(4) Ve U Weifaed

AFe 99 # qResf o fordes g oTud THH W&
?7?

(1) emeim & S fush afdm g
(2) UEmY % A et Faert afvr gra
(3) o™ ¥ I8 wsT g

(4) UEHY HE ¥ I3 FIFYA g

73.

74.

75.

76.

Which of the following is an amino acid derived
hormone ?

(1) Estradiol
(2) Estriol
(3) Ecdysone

(4) Epinephrine

Which of the following structures or regions is
incorrectly paired with its function ?

(1) Hypothalamus production of
releasing hormones
and regulation of
temperature,

hunger and thirst.

band of fibers
connecting left and
right cerebral
hemispheres.

(2) Corpus callosum

consists of fibre
tracts that
interconnect
different regions of
brain; controls
movement.

(3) Limbic system

(4) Medulla oblongata : controls respiration

and cardiovascular
reflexes.

Which of the following hormones can play a
significant role in osteoporosis ?

(1) Estrogen and Parathyroid hormone
(2) Parathyroid hormone and Prolactin
(3) Progesterone and Aldosterone

(4) Aldosterone and Prolactin

The transparent lens in the human eye is held in
its place by

(1) smooth muscles attached to the iris

(2) smooth muscles attached to the ciliary body
(3) ligaments attached to the iris

(4) ligaments attached to the ciliary body

CHLAA/GG/Page 15

TF T o T8 UM / SPACE FOR ROUGH WORK

Hindi/English



71.

78.

79.

Frafafiga & @ -1 foew spaw: g 3 aaehifa
T Phgl T g I 3fed &9 & giar § ?

(1) &t Tag | STferehdr; yadfen § o

(2) vaEl gag § wHY; yaElTehT § My

(3) vaEfdeR hI gEa § Ifuehdr; gt gag ®
SfereRar

(4) Y@t °§ NY; YIE T8 § HHt

ey 18 &) 78 9e o w11 1 9e 8 faam hifs
s =9 feu U foswmedi & @ @E Oy w1 ==

T

T 1 Eary 11
a. oo suae i, < 3rfere W W e
% o=
b. o wuwe ii. e e e g
gt & o=
c. AT HURH  iii.  erfed sfere W arfe
fem & =
a b c
1) i 11 111
(2) i i 11l
3 1 i1 11
4) 11 i 11

T I H & TS Al o TR 11 <kl wel § e hifsg
IR fra feu MU fomewi 0§ @E? famew &1 WA

I

TFy [
a. SAR A=A i.
b. oAvEEd giEa i

ey I1
2500 — 3000 7.t
1100 — 1200 fi. <.

3T

c. TvaEs gfea iii. 500 — 550 fir.&fh.
3T

d. fafe T iv. 1000 — 1100 ..
a b c d

1) i iv ii iii

(2) iv i ii i

(3) i i iv i

(4) i i i iv

71.

78.

79.

Which of the following options correctly
represents the lung conditions in asthma and
emphysema, respectively ?

(1) Increased respiratory  surface;

Inflammation of bronchioles

(2) Decreased respiratory
Inflammation of bronchioles

surface;

(3) Increased number of bronchioles; Increased
respiratory surface

(4) Inflammation of bronchioles; Decreased

respiratory surface

Match the items given in Column I with those in
Column II and select the correct option given
below :

Column II

Between left atrium
and left ventricle

Column I

a. Tricuspid valve 1.

b.  Bicuspid valve ii. Between right
ventricle and

pulmonary artery

c¢.  Semilunar valve iii. Between right
atrium and right
ventricle

a b c

1 i ii iii

(2) i i iii

3 i iii ii

(4) iii i ii

Match the items given in Column I with those in
Column II and select the correct option given
below :

Column I Column I1

a. Tidal volume i. 2500 — 3000 mL

b. Inspiratory Reserve  ii. 1100 - 1200 mL
volume

c. Expiratory Reserve iii. 500 — 550 mL
volume

d. Residual volume iv. 1000 — 1100 mL

a b c d
P i iv ii iii
(2) iv iii ii i
(3) iii i iv ii
(4) iii il i iv
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80.

81.

82.

83.

84.

85.

et % fuvs gera: foress a4 310 8 2
(1) —fFes 37 td SER

(2) Hod UsHE™ T RER

(3) DNATE RNA

(4) N w fafrs

T U HIH-T1 A Te7d © ?

(1) TATSHITATH T T BT & 99 dh 38 BIESSH
AT ST I3M o foty NAD firerdn & 2 |

(2) ARt BREBIRCHT R 6 STal
forg o afea g @ |

(3) TSI SHITIehIfeid § U= Bl 2 |

(4) TCA =3k % THASH GAHOTRN o oae #§ feua
B2 |

9% ¥ TEAEH TH mRNA & Feg @ikl THET

yifetieersg il w3 Ufai sqd & | UsSEE 1 UE

@IS ! FIT Fad 8 ?

(1) vfeesm

(2) ey

(3) wEdw™

(4)

frafafga & @ -8 wionfys wee ame Safa=m
! T Hid & ?

(1) e, ThaRgdl, Tt

(2) e, foawed!, fawmadt

(3) Triadt, fgamadt, fowmedt

(4) e, foamEd, e

% USTfsHs e (RER) H Ffafea # =
HH-H T 7T Bt ?

(1) Hehd Ueergs o fage

(2) wiEpifafis geewo

(3) I 1 TATTHIATH

(4) A 1 I

e T &1 ==e Hifsu

(1) ALY TORE — L-3ThRI TR
(2) ¥EUEE A — UEHfOEEl % IiE®
(3) UaEm — for T

(4) owgw RE - foue b gl

80.

81.

82.

83.

84.

85.

Nissl bodies are mainly composed of
(1) Nucleic acids and SER

(2) Free ribosomes and RER

(3) DNA and RNA

(4)

Proteins and lipids

Which of these statements is incorrect ?

(1) Glycolysis operates as long as it is supplied
with NAD that can pick up hydrogen atoms.

(2) Oxidative phosphorylation takes place in
outer mitochondrial membrane.

(38) Glycolysis occurs in cytosol.
(4) Enzymes of TCA cycle are present in
mitochondrial matrix.

Many ribosomes may associate with a single
mRNA to form multiple copies of a polypeptide
simultaneously. Such strings of ribosomes are
termed as

(1) Plastidome

(2) Nucleosome

(3) Polyhedral bodies

(4) Polysome

Which of the following terms describe human
dentition ?

(1) Pleurodont, Monophyodont, Homodont

(2) Pleurodont, Diphyodont, Heterodont

(3) Thecodont, Diphyodont, Heterodont

(4) Thecodont, Diphyodont, Homodont

Which of the following events does not occur in
rough endoplasmic reticulum ?

(1) Cleavage of signal peptide

(2) Phospholipid synthesis

(3) Protein glycosylation

(4) Protein folding

Select the incorrect match :

(1) Submetacentric
chromosomes

(2) Polytene
chromosomes
(3) Allosomes

(4) Lampbrush
chromosomes

L-shaped chromososmes

Oocytes of amphibians

Sex chromosomes

Diplotene bivalents
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86.

87.

88.

89.

90.

T S & HIfeT 59 H T AGGTATCGCAT 2 |
3% g IFRad mRNA T Helferd shH 1 SR 2
(1) ACCUAUGCGAU

(2) UCCAUAGCGUA

(3) UGGTUTCGCAT

(4) AGGUAUCGCAU

M 2 AT % ogEr faem & frnfafy fra weR
B 2 2

(1) <iffeh gwar y&g aftada (sreorredt fafiwar)
(2) Y IcaiEdA

(3) @M

(4) g N

ey 18 &) 78 93 o1 Ty 11 9e § faam il
IR o few MU famewi @ @E? fawew w1 WA

HIRTT -

&ey [ weyy IT
a.  UGUCHIA IEEAT i T AT H foereq
b. @l yEE ii. geehr STewn
c. FkgaE iii. fafive yraen
a b c
(1) i i i

(2) iii i ii

(3) i iii ii

(4) iii ii i

T T HIF-HT U T AT 7gT B 2
(1) TE=

(2) EEH

(3) TTEATHS S(H

(4) TR

T Tt % T X R H X-G T B | I8 TR
fopl aremmTa g 2

(1) hael drar-aifeat /Ardft-rfeat &

(2) i ud ghRI g

(3) had gAi H

(4) <haet goE °

86.

87.

88.

89.

90.

AGGTATCGCAT is a sequence from the coding
strand of a gene. What will be the corresponding
sequence of the transcribed mRNA ?

(1) ACCUAUGCGAU
(2) UCCAUAGCGUA
(3) UGGTUTCGCAT
(4) AGGUAUCGCAU

According to Hugo de Vries, the mechanism of
evolution is

(1) Phenotypic variations
(2) Minor mutations

(3) Saltation

(4) Multiple step mutations

Match the items given in Column I with those in
Column IT and select the correct option given
below :

Column I Column II

a. Proliferative Phase i. Breakdown of

endometrial
lining

b.  Secretory Phase ii. Follicular Phase

c.  Menstruation iii. Luteal Phase

a b c

(1) i iii i

(2) iii i ii

3) i iii ii

(4) iii ii i

All of the following are part of an operon except
(1) an enhancer

(2) apromoter

(3) structural genes

(4) an operator

A woman has an X-linked condition on one of her

X chromosomes. This chromosome can be

inherited by

(1) Only grandchildren

(2) Both sons and daughters
(3)  Only sons

(4) Only daughters
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91.

92.

93.

94.

Toret wafer fguar w1 3w foreft Tt i i Aot &
IS 39 H o forw fopam a7, foem Ay wey
I TS I Uiad! e grT aHTEifeTa foRam ST deha
21 27°C &y I W Ty I T 20 cm AW
73 cm B W g HUFTA TG 399 B 8 | Al waf
g &1 IERT 320 Hz 7, @1 g § & & 27°C W
an g

(1) 350 m/s
(2) 300 m/s
(3) 339 m/s
(4) 330 m/s

Imeaw Q % foreft fogea Tma ufgemr @enfa ¢

% A ITelt g <l afgemiati & fiw fRR-Ggd 9o

(1) dfgeiati & == 6l gt % A » STIHAII!
A1 E |

(2) ufgehrait & o= I gt & HATIATT BT 2 |

(3) ulgwati & i H g+ Washa: AT
A1 8 |

(4) ufgmaAi & o= ht gt W R 2T e |

HTS FOHH TaUEEE ¥ Rl THEHE U HW H
Feate fgq-49 E § ®8 § 18 g, h, a1 2 | =@
fogd-&a &1 g sfEidd W@d ge sEehl foum
Iohiid L < Wt 7 | TRt Wietd @ formreen @
s & SeateR gt h a6 sE Fr fon S 1 et
% fire o forg 7o g < qorn | g g i d
ot e T R

(1) 10 TAT Afeh

(2) @A

(3) 5T M

(4) =H

HIE AITh Th BBl Ho qa7 H S § AH 8 3R
T Ed qiceh i 9ifd Jad &9 F W-A8 i &
W e | we feufd @ 5 m g W Eh Mo H

T 20 m/s2 B | Sl 1 IAEdRT 3

1) 2s
(2) 1s
3) ms
4) 2ms

91.

92.

93.

94.

A tuning fork is used to produce resonance in a
glass tube. The length of the air column in this
tube can be adjusted by a variable piston. At
room temperature of 27°C two successive
resonances are produced at 20 ecm and 73 cm of
column length. If the frequency of the tuning fork
is 320 Hz, the velocity of sound in air at 27°C is

(1) 350 m/s

(2) 300 m/s
(3) 339m/s
(4) 330m/s

The electrostatic force between the metal plates

of an isolated parallel plate capacitor C having a

charge Q and area A, is

(1) proportional to the square root of the
distance between the plates.

(2) inversely proportional to the distance

between the plates.

(3) linearly proportional to the distance

between the plates.

(4) independent of the distance between the
plates.

An electron falls from rest through a vertical
distance h in a uniform and vertically upward
directed electric field E. The direction of electric
field is now reversed, keeping its magnitude the
same. A proton is allowed to fall from rest in it
through the same vertical distance h. The time of
fall of the electron, in comparison to the time of
fall of the proton is

(1) 10 times greater

(2) equal

(3) 5 times greater

(4) smaller

A pendulum is hung from the roof of a
sufficiently high building and is moving freely to
and fro like a simple harmonic oscillator. The
acceleration of the bob of the pendulum is

20 m/s? at a distance of 5 m from the mean
position. The time period of oscillation is

(1) 2s

2 1s
3) ms
4) 2ms
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95.

96.

97.

98.

forelt ot poselt feamnfiet it g gunfear 5 div/mA
3R dieed! GaTfed1 (T T3 dleedl H 3cqa hivh
o) 20 div/V 2 | 39 Toaamie 1 gfadg 3

(1) 250Q
(2) 500 Q
(3) 25Q
(4) 40Q

05 kg m_lﬂﬁmmmzﬁﬁﬁéﬁﬂ'@ﬁﬁ
&fas Dg Bl Th o TFd da W S Afas & 30°
T BV ST 7, TG AT R | 39 DS I 3@ A
T JeTEd hieht el Bk el fedn Jar S« 39 W
0-25 T ST %1 Frachid &7 Heater foem § el =t @
2 | 98 # for Ter % e sad yarfeq g @

(1) 1476 A
(2) 11:32A

(3) 598A

4) TI4A

forell forgd-grareh o gai o st Sfagreshia gerel i

TH Udehl B8 Fearer e 2 | 9 foed-gree § g

YaTed i Al 8, A1 98 B &lis grashd & § q1a

T A AR gohdl € Il 3 | 39 YR Ig B Toed ™

feafast Sat o wedt B | T A & fo ereves

T B

(1) 3% % Uard shl JTAAeh T

(2) i foe@-a 1 fop wftedt grasdm & @ 3=
B 8

(3) Trah &

(4) fagdg @@

20 mH &1 1§ I, 100 uF H1 61§ TLTE G5 50 Q
1 H1S Tfelieeh, fa.a1. s (emf), V = 10 sin 314 t
& forell @ra @ 9oft § Tifora & | 39 ufwy # wifeq
DR

1) 274W
(2 113W
(3) 043W
4) 079W

95.

96.

97.

98.

Current sensitivity of a moving coil galvanometer
is 5 div/mA and its voltage sensitivity (angular
deflection per unit voltage applied) is 20 div/V.
The resistance of the galvanometer is

(1) 250Q

(2) 500Q
3 25Q
(4) 40Q

A metallic rod of mass per wunit length
0-5 kg m! s lying horizontally on a smooth
inclined plane which makes an angle of 30° with
the horizontal. The rod is not allowed to slide
down by flowing a current through it when a
magnetic field of induction 0-25 T is acting on it
in the vertical direction. The current flowing in
the rod to keep it stationary is

(1) 1476 A
(2) 11-32A
(3) 598A
4) 714A

A thin diamagnetic rod is placed vertically
between the poles of an electromagnet. When the
current in the electromagnet is switched on, then
the diamagnetic rod is pushed up, out of the
horizontal magnetic field. Hence the rod gains
energy. The work

gravitational potential

required to do this comes from

(1) the lattice structure of the material of the
rod

(2) the induced electric field due to the
changing magnetic field

(3) the magnetic field

(4) the current source

An inductor 20 mH, a capacitor 100 puF and a
resistor 50 Q are connected in series across a
source of emf, V = 10 sin 314 t. The power loss in
the circuit is

(1) 274W
(2) 113W
(3) 043 W
4 O079W
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99.

100.

101.

102.

aﬁéﬁmwcmqﬁwaﬁ%%{ﬁwa&wﬁ
40 cm g W feuq 7 | FfQ 38 forar o1 g o o o
20 cm TIAFARG X fean S, @ gfafe feadt gl
T forenfya g smem 2
(1) 30 cm TYU1 % I
(2) 36 cm TYU % I
3) 360m3ﬁ'UT@E;{
(4) 30 cm T & T

1 e gt w PRt mem A A V = Vi @
T W g | TR au 39 fagq-grasde atr @
foga-29 Qom +y 9 % oHfew 3 | 99 @
fergd-grarehla qT % Jrachia & <o 1 foum gnft
(1) —yfem

(2 —xTfem

(3) +zfem

4 -—zfam

foret I & 60 mA H g YaTfEd HH W 3G Ik A
Gfea greshi feafast Soff 1 91 25 md 3 | 30 W
T Wehed B

(1) 1-389H

(2) 13-89H

(3) 13888 H

(4) 0138 H

foret forem & wered o1 stuEdAiE V2 TR fm @ i
30° 2 | fr5w & @ omad® ol H H wh I A
=greRt HIaT i 3R U0 ST W 2 | G B o
T S TS THAT TR R HIS G (U0 AT T8
¥ WEfdd B9 % Twar) I 9% | IO we e,
afg fsw W T o 1 9 2

(D
(2)
(3)
(4)

30°
hS
45°
60°

99.

100.

101.

102.

An object is placed at a distance of 40 cm from a
concave mirror of focal length 15 cm. If the object
is displaced through a distance of 20 cm towards
the mirror, the displacement of the image will be
(1)
(2)
3)
4)

30 cm towards the mirror
36 cm towards the mirror
36 cm away from the mirror

30 cm away from the mirror

An em wave is propagating in a medium with a
velocity ;)7 = V/i\ . The instantaneous oscillating
electric field of this em wave is along +y axis.
Then the direction of oscillating magnetic field of
the em wave will be along

(D)
(2)
(3)
(4)

— y direction
— x direction
+ z direction

— z direction

The magnetic potential energy stored in a certain
inductor is 25 md, when the current in the
inductor is 60 mA. This inductor is of inductance
(1) 1-389H

(2) 1389 H

(3) 13888 H

(4) 0138 H

The refractive index of the material of a prism is
J2 and the angle of the prism is 30°. One of the
two refracting surfaces of the prism is made a
mirror inwards, by silver coating. A beam of
monochromatic light entering the prism from the
other face will retrace its path (after reflection
from the silvered surface) if its angle of incidence
on the prism is

(1) 30°

(2)
(3)
(4)

zero
45°
60°
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103.

104.

105.

106.

BIgeio ATy <1 fepeh o whem # foReh geiei oAl
Tiferst St 3R 3EehT et AT BT I BT B

1 2:-1
(2 1:-2
3 1:-1
4 1:1

S AV = Vo1 (Vg > 0) 3R ZEWE m
w1 F wwE R BEReT B - - By |
(B = T > 0) H t = 0 T Yoz a1 7 | Al Joew
# 3@ goEg bl el desd o, B, @ @t W
TEhT S-St e gt

(1) Aot

@ A

3

(4)

foreft Ifsamufaea wered i erd-3my 10 fime 3 | 3l
e # iRt A @A 600 B, A 450 AIRYeRT %
fqafea a9 # oM aren w (e ) @

(1) 30

2) 15

(3) 10

4) 20

Se fRel u1g % I8 W AEN 2v, (I v, gl
JMgfT 8) T TR TG HLAT &, A1 I gerag it
1 AfUhad 9 v, 7 | F9 Ufaa fafrwr it g
FEH by, H G I @, Al I Y8 H Iedrd
Wﬂﬁwaﬂv2ﬁm%lv1 3ﬁ'{v27=|'7f
3T &

(1)
(2)
(3)
4)

- =N

1
1
14
2

103.

104.

105.

106.

The ratio of kinetic energy to the total energy of
an electron in a Bohr orbit of the hydrogen atom,
is

1 2:-1
2 1:-2
3 1:-1
4) 1:1

An electron of mass m with an initial velocity
;/3 =V, /1\ (Vo > 0) enters an electric field
}_*]> =— Eoli\ (Eg = constant > 0) at t = 0. If A, is
its de-Broglie wavelength initially, then its
de-Broglie wavelength at time t is

() At

(2)

half-life is
10 minutes. If initially there are 600 number of

For a radioactive material,

nuclei, the time taken (in minutes) for the
disintegration of 450 nuclei is

(1)
(2)
3
4)

When the light of frequency 2v, (where v, is
threshold frequency), is incident on a metal
plate, the maximum velocity of electrons emitted
is vy. When the frequency of the incident
radiation is increased to 5v;, the maximum
velocity of electrons emitted from the same plate
is vy. The ratio of v; to v, is

1 4:1
2 2:1
3 1:4
(4) 1:2
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107. fou U diwy sm@ #, fEw dwed (V) 20V,
VBEZOHQHVCE:()%l IB,IcﬁTB%maﬁ

(1)
(2)
(3)
(4)

20V

Ip =20 uA, I =5mA, B =250
Ip =40 yA, Io=5mA, =125
Ip =25 uA, I =5mA, B =200

Ip =40 uA, Ig =10 mA, =250

108. Tl p-n ®fY SHTE § T g ¥ A | gREdd

(1)
(2)

(3)
(4)

p-n Y o FfcIg i THTd T& HT 2 |

p-n T % T V — I A0 ! I hLaT
2

Fad 31 Tfaly o1 gwIferd LT @ |
shaet ooy (Fad) uferier vt wefard et 8 |

109. fo=r 4 feuw U Nt & A # frfq Y o e A s
B 9ci H 39 YhR o¥ad fehal ST Hehdl &

Ae

Be

[
> y
(

107. In the circuit shown in the figure, the input
voltage V; is 20 V, Vg = 0 and Vg = 0. The

1

values of I, Iy and B are given by
20V

(1) Iz=20uA, Ig=5mA, B =250
(2) Iz=40uA, Io=5mA, p=125
(3) Iz=25uA, Ig=5mA, B =200

4) Ig=40pA, Io=10mA, B =250

108. In a p-n junction diode, change in temperature
due to heating

(1) does not affect resistance of p-n junction

(2) affects the overall V — I characteristics of
p-n junction

(38) affects only forward resistance
(4) affects only reverse resistance
109. In the combination of the following gates the

output Y can be written in terms of inputs A and
B as

Ae

Be r>° Y
>

(1) A.B+A.B (1) A.B+A.B
(2) A+B (2) A+B
(3) A.B+A.B 3 A.B+A.B
4 A.B 4 A.B
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110. (47 + 4-7) kQ g & foreht spreq-ufctias W, TgaH

111.

112,

% foru, fafirs auit & o ifera fohe 9 2 | 9ol w1
T 59 BT

(1) el — &0 — S - gTEa

(2) B0 — A/ — S — TR

(3) el — S — A — =t @

(4) S — e — ATt — =id o

‘v’ FIEH Ficgehi 1 qg=, a8 J® 1 gy
‘R 8, ooftspm W fa.a1.sd (emf), ‘B’ 3R 3r=afiish
gfqtie, ‘R’ 1 et S @ Taforg B | S 9 oft
g I 8 | 316§ ‘n’ JfaQeehi 1 Uwd A § 3EH S
gEa frn S 1A S oA T awm 10 I &
Tt ] | ‘n’ BT HAH B

(1 20
2 9

3 11
(4) 10

g St 3maftes gfetiy @ a1e, Fofishd ¥ T, ‘o’
TdEn Al (T n giEdl 3) ¥ oS 7 | 9l *
Tl b1 Tgued ek 9T I ATt S 7 | fem mn
HIA-FT % 1 3R n % = TE ey w1 guiar g 2

I

O —>n

4)

O —n

110. A carbon resistor of (47 + 4-7) kQ is to be marked

111.

112.

with of different for
identification. The colour code sequence will be

(1)  Yellow — Green — Violet — Gold

(2) Green — Orange — Violet — Gold
(8) Yellow — Violet — Orange — Silver
4)

rings colours its

Violet — Yellow — Orange — Silver

A set of ‘n’ equal resistors, of value ‘R’ each, are
connected in series to a battery of emf ‘E’ and
internal resistance ‘R’. The current drawn is L.
Now, the ‘n’ resistors are connected in parallel to
the same battery. Then the current drawn from
battery becomes 10 I. The value of ‘n’ is

(1 20
2 9

3 11
(4) 10

A battery consists of a variable number ‘n’ of
identical cells (having internal resistance ‘r’
The
terminals of the battery are short-circuited and
the current I is measured. Which of the graphs
shows the correct relationship between I and n ?

I
(D f i

(0] —n
I
7

each) which are connected in series.

(2)

(@) —n
I
3 T
0 —n
I—
@ 1
(@) —>n
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113.

114.

115.

116.

I & AT R FGUYTIh & o9 wEid fredt ofmest

ST T ohl 28Tl Bidl @
(1) 625%

2) 125%

(3) 20%

4) 268%

forelt ThTRHTU A| % EAH (V) H A9 (T) & @
foemor oT% # WU FgER a1 B | IfeF A ¥
7T B b S 1 Ufsham & 19 g fopu Tu st 31k

sa%gsrmﬁﬁmwagw%
! B
A
o —>T
S
) %
3 g
@ %

Topelt go1 AT W1ed 1 A sTafa fRe S AT
TIEd % A g (FE) S STER %k w2 |
aﬁ?ﬁaﬁhwﬁmﬁzocm%,a‘f@ﬁmﬁﬁ
1Y <hi TS Bl

(1) 12'5cm

(2) 16cm

(3) 8cm

(4) 13-2cm

form a9 W AN Stupsti W et WET 4 (rms)
oA gl o YIS § TARH L TR W foIC A
T BT St ?

(e a2

IS % 3T T FHH (m) = 2-76 x 10726 kg
S R ky = 1-38 x 1023 J K1)
5016 x 10* K

1254 x 10 K

8-360 x 10* K

2-508 x 10* K

(D
(2)
3
4)

113.

114.

115.

116.

The efficiency of an ideal heat engine working
between the freezing point and boiling point of
water, is

1) 6:25%

(2 125%

3 20%

(4) 268%

The volume (V) of a monatomic gas varies with
its temperature (T), as shown in the graph. The
ratio of work done by the gas, to the heat
absorbed by it, when it undergoes a change from
state A to state B, is

\Y%

T

o

ﬁT

(D

(2)

6))

AN WD T W+

(4)

The fundamental frequency in an open organ
pipe is equal to the third harmonic of a closed
organ pipe. If the length of the closed organ pipe
is 20 cm, the length of the open organ pipe is

(1) 12-5cm

(2) 16cm

3)
(4)
At what temperature will the rms speed of

oxygen molecules become just sufficient for
escaping from the Earth’s atmosphere ?

8 cm
132 ecm

(Given :

Mass of oxygen molecule (m) = 2-76 x 10726 kg
Boltzmann’s constant kg = 1:38 x 1022 g K_l)
(1)
(2)
(3)
(4)

5016 x 10* K
1254 x 10* K
8:360 x 10* K
2-508 x 10* K
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117.

118.

119.

120.

foreht spfsrent gro fafsefa i P 2 e =g aome,
Ay T 3Tfeehan Hat fafeRla w3 | o AR =

ISR 1 A9 gREfia & fen s g, we 76 9
%xoa@ﬁsémaﬁwwfﬁr&sﬁamé,a

3% g fafeplta wiferd nP &1 STl @ | n <1 7 BAT

256
81
81
256

(D
(2)
3

4)

g AR U ggrd o &4 g R gFi o Tad ot wum
g | 95 AR 1 STIRY-HE H &THA A 3R gW AR
I FTIEI-HE H FTFA 3A 7 | I 5@ F et
UEe R I AR H AL H glg h I 7, 9@ gE AR
Sl awerg H o g & gig H b AT fhdd W Al
JTETAHAT B 2

(1) 4F

2 F

(3) 6F

4) 9F

s o 1 Sig @Y e fotmmaEen ¥ ot v ga
it 8 | W9 o1 & RO 3HA FOAT 39 BT R |
M & Sifqm (efld) a9 | 3oqa o= @il

o |

farafirfiad # & form SgEATII 2R 2 2
1 1
@ 1t
3 1
4 1

M= g (1:013 x 10° Nm™2) 3R 100°C a9 W
0-1 g 9@ % T &I 100°C H 99 H gf@fdd & &
I 54 Hell ST Hall I ETIHRAT B & | AR
3UF WY H AFAA 167-1 cc 7, 9 39 T A
F=ANeh Sl § qiadd &

(1) 42:24J

(2) 845J

(3) 2087J

(4) 104-3J

117.

118.

119.

120.

The power radiated by a black body is P and it
radiates maximum energy at wavelength, A,. If
the temperature of the black body is now
changed so that it radiates maximum energy at
wavelength % Ao, the power radiated by it

becomes nP. The value of n is

256
81
81

256

(1)

(2)

3

4)

o |

Two wires are made of the same material and
have the same volume. The first wire has
cross-sectional area A and the second wire has
cross-sectional area 3A. If the length of the first
wire is increased by Al on applying a force F,
how much force is needed to stretch the second
wire by the same amount ?

(1) 4F
(2) F

3) 6F
(4) 9F

A small sphere of radius r’ falls from rest in a
viscous liquid. As a result, heat is produced due
to viscous force. The rate of production of heat
when the sphere attains its terminal velocity, is
proportional to

@

@
3 1?
@ 1
A sample of 0-1 g of water at 100°C and normal
pressure (1-013 x 10° Nm™2) requires 54 cal of
heat energy to convert to steam at 100°C. If the
volume of the steam produced is 167-1 cc, the
change in internal energy of the sample, is

(1) 42-2d

(2) 845J

(3) 2087J

(4) 104-3J
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121.

122,

123.

124.

T % TR AR Srefeeli wen # Tl 7w hi feufo
A, B 3R C W s HArd AW K, K 3 K 7 |
AC & 317 2 7o 9 i feufa S W SB femmgem &

AT ACH A 3 | a9

(D
(2)
3
4)

Kg <Ky <K
Kg > Ky > K¢
Kj > Kg > K¢
Ky <Kg <K

T 39 Tl dled (A § 7 | WAled Tfd H a%q
TYHTAE TS ot (K,) o @re-gne goff Tfas e
(K,) ft 8t 3 | Tt & T K, (K, + K,) T 19
=l
(1)
(2)
3)
(4)

I3 3E T ok TTehrel H 70+t Tmfufa s1er < ufia:
qod &9 § YU B @ 8 | 39 Tl 1 GAHH THH
T@d g 3wl B & gfg it It B 1 Mo % fog
fefefea & @ wia- Wifes afyr fer @l 2

(1) ol Tfas Hat

(2) v Ham

(3) iScd IATe
(4)  HUF 97

Ife g w1 gEmH 1% THT B qAT WIE Teearehyur
feories afmmr 9 10 T &1, @ Frefafed ®§ @ we-a
wEl 7T 72

(1) Yot N WA AT T AEdHRIA HH & ST |
(2) 9=t W ‘g’ % A H giEd Ta 8rm |

(3) ol T ST 3Tfh hic &l S |

(4) aut I ot W st Joht & feh |

10:7
2:5
5:7
7:10

121.

122,

123.

124.

The kinetic energies of a planet in an elliptical
orbit about the Sun, at positions A, B and C are
K,, Kg and K, respectively. AC is the major
axis and SB is perpendicular to AC at the
position of the Sun S as shown in the figure.
Then

(D
(2)
3
4)

Kg <Kj < K¢
Kg > Ky > K¢
Ky > Kg > K¢
Ky <Kp <K

A solid sphere is in rolling motion. In rolling
motion a body possesses translational kinetic
energy (K;) as well as rotational kinetic energy

(K,) simultaneously. The ratio K; : (K; + K,) for
the sphere is

(1 10:7

(2) 2:5

3 5:7

4) 7:10

A solid sphere is rotating freely about its
symmetry axis in free space. The radius of the
sphere is increased keeping its mass same.

Which of the following physical quantities would
remain constant for the sphere ?

(D
(2)
3
(4)

Rotational kinetic energy

Angular momentum

Moment of inertia

Angular velocity

If the mass of the Sun were ten times smaller
and the universal gravitational constant were

ten times larger in magnitude, which of the
following is not correct ?

(D

Time period of a simple pendulum on the
Earth would decrease.

(2)
3

‘g’ on the Earth will not change.

Walking on the ground would become more
difficult.

(4) Raindrops will fall faster.
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125. M@ ¥ g IFFER S918 h & ovoRfzd oo & gfem

form STerEe § TR Tl 1S {9, sa® AB = D %
FHealeR g I Sh-3Neh IU HT 2 | 99 Ha18 h Eefr

B

(D

(2)

3 D

3p

(4) 2

126. 1 fovg, A : (T 3™ Tel), B : (T qaci Jamhi

FHdt) qA C : (Th JAHR Bgl), W J@F *
geaqE M qen B R R, @UE hivig oI o | A9
Tufife 31e7i o Uitd: =hol o @ & | 32 fommaEer
% foru fhy S 9t TevEs R (W) % foag
-9 Hoy TE R 2

(1) Wp>W,>Wg
(2) Wpr>We>Wg
(3) Wpr>Wg>Wg
4) We>Wg>W,

127. G99 m T T Tefied [eehl, 4m goom™ o foreht

T R ek | Hog AT B | HUZ o UvE g
Teeh! o stawen # o ST B | ARG gk ek H
AR o v B, 1 TeAE 0T (e) T HH BT
(1) 08

(2) 04

3) 025

4) 05

128. fa=fefiga & @ =-91 %9 F@eT B 2

(1)
(2)

Nl St 3Tferes Tifa o1 feriy et B

off efor TqureR i femTd TEeTg S fomT % T
Bl # |

wfqer g¥u 1 Himea a9 Ao gfafsean
STSATIITAT BT § |

Aeter Tvu gdf a0 & H Bia1 © |

3

(4)

125.

126.

127.

128.

A body initially at rest and sliding along a
frictionless track from a height h (as shown in
the figure) just completes a vertical circle of
diameter AB = D. The height h is equal to

h B
l )
1
A
7
1) =D
(1 5
5
2) =D
(2) 1
3) D
3
4) =D
(4) 2
Three objects, A : (a solid sphere), B : (a thin

circular disk) and C : (a circular ring), each have
the same mass M and radius R. They all spin
with the same angular speed » about their own
symmetry axes. The amounts of work (W)
required to bring them to rest, would satisfy the
relation

(1) Wg>W,>Wgq
(2) Wr>Wi>Wp
(3) Wur>Wg>Wg,
(4) We>Wg>W,

A moving block having mass m, collides with
another stationary block having mass 4m. The
lighter block comes to rest after collision. When
the initial velocity of the lighter block is v, then
the value of coefficient of restitution (e) will be

(1 08
(2) 04
3 025
4) 05

Which one of the following statements is
incorrect ?

(1)
(2)

Frictional force opposes the relative motion.

Coefficient of sliding has
dimensions of length.

friction

3

Limiting value of static friction is directly
proportional to normal reaction.

4)

Rolling friction is smaller than sliding
friction.
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- A
129. fg (2,0, - 3) WFRRA 91 F = 41 + 5] — 6k =1

g (2, - 2, — 2) % wi@: AT B
A A A

(1) -7i-8j -4k

@ -71-43 -8k

3) —4i -] -8k
A A A

4 -81-4j -7k

130. #i5 fga wR @ W smew ¢ 7 foReft wehmmE

131.

frer-8m B 3 wora # el T wwet SR 7
Wﬂﬁﬂﬁ%l@a%usﬁ%mrd{mﬁaaqg%
HRU ZTHRI AT 0 F 6 m/s & AT & | IEH &0
faggq-8m i fosn Sopfig o & 9t B | 3@ o8
YT T SR A T HhUS deh TMd il WAl 2 | 0 F
3 WU & o9 RgeiHT R & 3f9d a1 IR 3fHq
I SHAT: B

(1) 1m/s, 3:5m/s

(2) 1-5m/s, 3m/s

(3) 1m/s, 3m/s

(4) 2m/s, 4m/s
AHd U 0 & fHH ot a3 ABC W m
TSI T IS sclreh TETHER e 8 | 39 991 o grff
IR HIE ol ‘@’ fean Jar B | sois oW W fER
T & foT a 3t 0 % e gay gm

A

2

m

C B
a=gcos 0
a=gtan0

a

(1)
(2)

g
3 -
@ a=2

4) a=_—2
cosec 0

132. Tl B 3 $¥91q <t &9 Tig % =™ HI W 0-001 cm

JeqaHT® I B W gRT | H&A 9 H A
5 mm 3R IAE M H I T Tad | 25 WA
SW 2 | A T A9 H I I - 0:004 cm B, A e
1 Hel A B
(1) 0053 cm
(2) 0529 cm
(3) 0525 cm
(4) 0-521cm

129.

130.

131.

132.

- A A A
The moment of the force, F =4i + 5j — 6k at
(2, 0, — 3), about the point (2, — 2, — 2), is given by

A A A
(1) -7i-87 -4k
A A A
@2 -17i-4j -8k
A A A
(3 -4i-j -8k
A A A
4 -8i-4j -7k

A toy car with charge q moves on a frictionless
horizontal plane surfac_e) under the influence o£)a
uniform electric field E . Due to the force q E,
its velocity increases from 0 to 6 m/s in one
second duration. At that instant the direction of
the field is reversed. The car continues to move
for two more seconds under the influence of this
field. The average velocity and the average speed
of the toy car between 0 to 3 seconds are
respectively

(1) 1m/s, 3-5m/s

(2) 1-5m/s, 3m/s

(3) 1m/s, 3m/s

(4) 2m/s, 4m/s

A Dblock of mass m is placed on a smooth inclined
wedge ABC of inclination 6 as shown in the
figure. The wedge is given an acceleration ‘a’
towards the right. The relation between a and 6

for the block to remain stationary on the wedge
is

A
&

C B
a=gcos0
a=gtan0

(D
(2)

g
3 =
@ a sin 0

g
cosec 0

(4)

a=

A student measured the diameter of a small steel
ball using a screw gauge of least count
0-001 cm. The main scale reading is 5 mm and
zero of circular scale division coincides with
25 divisions above the reference level. If screw
gauge has a zero error of — 0-004 cm, the correct
diameter of the ball is

(1) 0053 cm

(2) 0529 cm

(3) 0525 cm

(4) 0521 cm
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133. IUEd® W Al g % foRE AW T8 W OHE

agfad YehTr a1y ¥ AAd war 7 | feRet faw
YA IV 4 R A T T foh wwmafaa feRtol 3Tk
sqafia fRu Th-gEt % aFed § | FefaRed | @
Hi-a1 fashey o feufa & adt 8 2

(1) i=sin™! (1]
u

i=tan1 (lJ
il

wWafdd ThE gfad @ o sHem faga afew
HYGH o del o oTread &

wafdd Y gfad @ o sEen fagq wfew

YA % d & GHR &

(2)

3

(4)

134. 97 & fgferdt wom #, fofei & = goea d, 2 mm 2

qa f3rll & 9¢ 1 gl D %l 100 cm W@d §Y qUIGE
A = 5896 A % JehTSI T IUAIT fohaT TR B | ¥ 4R
o7 fop fShatl <Al hIviiT <iets 0-20° ] | @« (38T A 3R
D & fo) fhait Y wivfig =ierg i seret 0-21° +HW
% for farfet & ot % gershd &1 e &

21 mm

(1)
(2) 1-7mm
1-9 mm

3

1-:8 mm

(4)

135. TorEll TICi ST9ad] giaRiss ol IV TELA 3T

3 shiofy farsig 3= im, afe saeh stfirgyaes o i
B g 31T 3 =E =T 7

BT g A I A BT 2

HreRE gl 31T 3R =T Bier @

BIhd gt FH R =E w1 8

(D
(2)
3)
(4)

133.

134.

135.

Unpolarised light is incident from air on a plane
surface of a material of refractive index ‘W. At a
particular angle of incidence 7, it is found that
the reflected

perpendicular to each other.

and refracted rays are
Which of the

following options is correct for this situation ?

(1) i=sin™ (1J
1)

i= tan_1 (lJ
n

Reflected light is polarised with its electric
of

(2)

3)
vector perpendicular to the plane
incidence

(4) Reflected light is polarised with its electric

vector parallel to the plane of incidence

In Young’s double slit experiment the separation
d between the slits is 2 mm, the wavelength A of
the light used is 5896 A and distance D between
the screen and slits is 100 cm. It is found that the
angular width of the fringes is 0-20°. To increase
the fringe angular width to 0-21° (with same A
and D) the separation between the slits needs to

be changed to
(D)
(2)
(3)
(4)

2:1 mm
1:7 mm
19 mm

1:8 mm

An astronomical refracting telescope will have
large angular magnification and high angular

resolution, when it has an objective lens of
(D)
(2)
(3)
(4)

large focal length and large diameter
small focal length and small diameter
large focal length and small diameter

small focal length and large diameter
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136.

137.

138.

139.

fopa fearfa & STot & srupett it T stfrehad 2 2

(1) 1atmTd 273 KW 0-:00224 L 3 a9 & forg
(2) 10739 I & ferg

(3) 018 ga & foTw

(4) 18 mL <& & feru

H= fgu MU M@ °, S A SR sraEer |

qfteda fafir fa.a1. s (emf) AFT W 011 TR
1-82V 15V
—_—

BrO, BrO; —— HBrO
Br < oesav P2 105V
HH-H TS STEHIE & o B 2
(1) Br,
(2) HBrO
(3) BrO;
4) BrO;

CaH,, BeH,, BaH, # 3T J&d &I %A 7

(1) BeH, < BaH, < CaH,

(2) BaHl, < BeH, < CaH,

(3) CaH, < BeH, < BaH,

(4) BeH, < CaH, < BaH,

v HIfe T e wife shifrarest & af faftmar 2
(D) 9o i h Aflrn 1 3fa forem s weman
; fedfra =ife < srfirfsren =1 SR &1 T
Hohdl B

yom wife 1 rfufsean w1 A sy i
Grgarett W R wtar 8; fediw ife < srfufsen
1 97 TfireRTes hl Frgaret w A @
H

SYH TS <hl AMTHA Al -3 [A] ) T TR
T #; faha wife 6 arffipan fr sdamy (A,
T fasft

Jom wife i rfufsen w1 9 A
grearett ® AR 78 w=ar B; fedm wife i
AR o1 a1 AfeRRes 1 drgaret W Al
AT B

(2)

3

(4)

136.

137.

138.

139.

In which case is the number of molecules of water
maximum ?

(1) 0-00224 L of water vapours at 1 atm and

273 K

(2) 1072 mol of water
3)

(4)

0-18 g of water
18 mL of water

Consider the change in oxidation state of

Bromine corresponding to different emf values as
shown in the diagram below :
— 182V ~ 15V
BrOy, — BrO3 ——> HBrO

Br Br,

%
1-0652'V 1595V

Then the species undergoing disproportionation
is

(1
(2)
(3)
(4)
Among CaH,, BeH,, BaH,, the order of ionic

character is
(1) BeH, < BaH, < CaH,

(2) BaH,; < BeH, < CaH,
(3) CaH, < BeH, <BaH,
(4) BeH, < CaHy < BaH,

Bry

HBrO
BrO;
BrO;

The correct difference between first- and

second-order reactions is that

(1)

a first-order reaction can be catalyzed; a
second-order reaction cannot be catalyzed

the rate of a first-order reaction does
depend on reactant concentrations; the rate
of a second-order reaction does not depend
on reactant concentrations

(2)

the half-life of a first-order reaction does not
depend on [A];; the halfllife of a

second-order reaction does depend on [A],

3

the rate of a first-order reaction does not
depend on reactant concentrations; the rate
of a second-order reaction does depend on
reactant concentrations

(4)
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140.

141.

142,

143.

144.

T [CoCl,(en),] R SERTd THTa 1 SHR &
(1) AR "HTER—EdT

(2) St FHTEEEAr

(3) SUHEEIISH GHTEIET

(4) ATHAE uTE—Edr

Fafafad § @ SH-A1 I d-d GhHYT ST § a9
|1 A SR Wl ?
(1)  MnO,

(2) MnO>"

(3) Cry02”

29—

4) CrOj

[Ni(CO),] G I <l we graehr or 3
(1) = guaeh sfafd ua sTgrah

(2) AR ST T SATIThT
(3) TgSHAhE SATHIT Td Tfagraehi
(4) o THde sarfifa wd gfogresh
P e, Fe(CO); R

(D
(2)
(3)
(4)
Hram 1 # fgu MU g1 ST @ wiem 11 # fiu Mo
AT & WU gEEeh  oeEn 8 fEmsy qun
@gt Teha i fAfdse Aifsw

140.

141.

142.

143.

144.

The type of isomerism shown by the complex
[CoCly(en)sy] is

(1) Ionization isomerism

(2) Linkage isomerism

(8) Coordination isomerism

(4) Geometrical isomerism

Which one of the following ions exhibits
d-d transition and paramagnetism as well ?

(1) MnO,

2) MnO;

3) Cr,0F

4 Croy

The geometry and magnetic behaviour of the
complex [Ni(CO),] are

(1) square planar geometry and paramagnetic
(2) tetrahedral geometry and paramagnetic
(3) tetrahedral geometry and diamagnetic

(4) square planar geometry and diamagnetic
Iron carbonyl, Fe(CO); is

(1) trinuclear

(2) dinuclear

(3) mononuclear

(4) tetranuclear

Match the metal ions given in Column I with the
spin magnetic moments of the ions given in
Column II and assign the correct code :

Hicid 1 Hicrd 11 Column I Column II
a. Co’* i. 8 BM. a. Co®* i. 8 BM.
b. Cr** ii. 35 B.M. b. Cr3* ii. /35 B.M.
c. TFe¥* iii. 3 B.M. c. TFe** iii. 3 BM.
d.  NiZ* iv. 24 B.M. d  Ni?t iv. 24 BM.
v. 15 BM. v. 15 B.M.
a b c d a b c d
1 v i ii iii 1 iv i ii iii
2 i v i ii 2 i v i ii
3) i i iii iv (3 i ii iii iv
4 iv v ii i @ iv v ii i
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145.

146.

147.

148.

149.

150.

frafafea & @ *Fw o MF:_ AT T H
e ® 2

(1) B

(2)
3)
4)
CIF; 1 @& H g WAV ‘CI W THEh I
FAFCAT hl TEIT B

(1) =X

(2 dH

3 @

(4) U=

Nfehi § $Teh! ST SFEATAT T = g3
EHEE

(1) HNOg, NH,CI, NO, N,

(2) NH,CI, N,, NO, HNO;

(3) HNOg, NO, NH,CI, N,

(4) HNOg, NO, Ny, NH,CI

e & fow f=fefad @ @ -a1 wem ow 787
77
@)

In
Al
Ga

TAH e i eATeHe  SAfeieR
FareTd g & |

FAR <l HTfereh seigrei g0 T & |

(3) weft SAfefiepmen afiertes & |

(4) wft Thet AT AT ST S F |

T 3@ H WIH § T@d g¢ fefaRgd § @
HAH Grg H TN UG b Tq=RE § feRAm S
GehdT B 2

(1) Mg

2) Cu

3) Zn

(4) Fe

frfafea § @ 79 13 & @i § Wit Bt w
HIH-HT T TE B ?

(1) B<Ga<Al<Tl<In

(2) B<Ga<Al<In<Tl

(3 B<Al<Ga<In<Tl

4) B<Al<In<Ga<Tl

(2)

145.

146.

147.

148.

149.

150.

Which one of the following elements is unable to
form 1\/[F§ “ion ?

1) B

(2)
3)
4)

In
Al
Ga

In the structure of ClF3, the number of lone pairs
of electrons on central atom ‘CI’ is

(1)
(2)
3)
4)

The correct order of N-compounds
decreasing order of oxidation states is

(1) HNO,, NH,CI, NO, N,
(2) NH,CI, Ny, NO, HNO,
(3) HNO,, NO, NH,CI, N,
(4) HNO,, NO, N,, NH,CI

four
three
two
one

in its

Which of the following statements is not true for
halogens ?

(1

All but fluorine show positive oxidation
states.

Chlorine has the
enthalpy.

(2)

highest electron-gain

3
4)

All are oxidizing agents.

All form monobasic oxyacids.

Considering Ellingham diagram, which of the
following metals can be used to reduce alumina ?
(1) Mg

2) Cu

(3) Zn

(4) Fe

The correct order of atomic radii in group 13
elements is

(1) B<Ga<Al<Tl<In

(2) B<Ga<Al<In<Tl

3) B<Al<Ga<In<Tl

(4) B<Al<In<Ga<Tl
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151.

152.

153.

3q Affshan

OH O™ Na*
@ + CHCl; + NaOH —— @ CHO
H Affiferd seagEEl &

(1) SHEFALHIIA O (%)H012)
(2) STSHARIHIS T (éCCI2)

B gRA (CHO )
®
SRFARMIIS g9 (CHCl )

3
4)

FHEIFHAR A % FILHH A ATM0Ih GATH
I Ufcegssl, ISl doT I8 % foh Uchlgial 4
J=a Bd 8 | T8 ohEeh o gran B 2

(1) hraifedfcish Tl i AfYh AR TUE ST
Ted SATHIU Sell o gRT Bl &

FAUSATTIH FIEGIH qo T4 &
IR 3T o a1
I SATMTIH FESIo qu 594 9

(2)
3
(4)

T Al 8 A, CgH; O 1 foh NaOI (Y i SAfufshan
NaOH & teh s ) 4 rfufshan e enerfirs

Ty 1ot fielT a8 2 @ |
A R Y 9 B

1 @— ClH — CH; 3 I,
OH

CH,

2 CH, G OH 3 I,
{ - CH, - CH, - OH i1,
HyC ) CH, - OH 3R I,

(3

(4)

151.

152.

153.

In the reaction

OH O Nat

@ + CHCl, + NaOH ——> @ CHO

the electrophile involved is

o

(1) dichloromethyl anion (CHCI;)

(2) dichlorocarbene (:CCl,)

)

(3) formyl cation (CHO )

@
(4) dichloromethyl cation (CHCl)

Carboxylic acids have higher boiling points than
aldehydes, alcohols of
comparable molecular mass. It is due to their

(D

ketones and even

more extensive association of carboxylic
acid via van der Waals force of attraction

(2)
3
(4)

formation of intermolecular H-bonding
formation of carboxylate ion

formation of intramolecular H-bonding

Compound A, CgH,,0, is found to react with

NaOlI (produced by reacting Y with NaOH) and
yields a yellow precipitate with characteristic
smell.

A and Y are respectively

1) @— CH-CHj and I,
|
OH

CH,

2) CHg G OH and I,
¢ )~ CH, - CH, - OH and 1,
4 Hy¢— ) CH,-OHand1,

3
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154, fm=fafaa d o fra 3] 4 o] g el & wrgaﬁ H [154. Which of the following molecules represents the

sp2, sp2, sp, sp HehLUT TMAT AT & ? order of hybridisation sp2, sp2, sp, sp from left to
right atoms ?

(1) CH,=CH-CH=CH,
(1) CHy;=CH-CH=CH,

() CHy—CH = CH ~CH; (2) CHy- CH =CH - CH,

3) CHy=CH-C=CH (3) CHy=CH-C=CH

(4) HC=C-C=CH (4) HC=C-C=CH
155. Fefafed & @ *H-@ FEgRA FEie Rt e followd o
Tt 2 2 155. Which of the following carbocations is expected to
be most stable ?
NO,
NO,y
(1) H
Y/ © (D H
Y @
NO,
H NOy
(2 Y a H
® v a
NO,
NO,
o ()
o ()
Y H
Y H
NO,y
NO,
(4) o
4)
Y H @

Y H
156. Ffafga # @ ufoeemgsi & -1 wwa & el #

H-T T 2 2 (R = Wewa) 156. Which of the following is correct with respect to
— I effect of the substituents ? (R = alkyl)

(1) -NHy;>-OR>-F (1) -NHy;>-OR>-F

(2) —-NRy>-OR>-F (2) -NRy>-OR>-F

3 -NRy<-OR<-F (3) —NRy<—OR<-F

(4) —NH2<—OR<—F (4) —NH2<—OR<—F
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157.

158.

159.

160.

161.

foeieh o1g S19aT STeTshA Sgershi o &g | frfafaa #
Y HI9-G1 YT T 8 ?

(1) ShdTse T HATHA 38 3STET & |

(2) TTh EgTH WA H YA HEEASH €
AR |

¥ fgforarcaes w@ Fifsharcns @wgl o Thaehl 9
T4 2 |

T fafm W wges gEest % o9
TEEASTeh Y B & |

el 1 AR Yed i Wem H R W
m-TTgINfefA oft ST 8 ifeh

(1) wiceeamges 1 srufeafa & e @gg ga
m-feafa ST 2

A (Jeied) Hrem | el Ufefifem smem
& &9 H Bl # |

FAFE i srfufher & Wi wg
m-FEIRRT 7 |

gfceendes 61 ufeafd & Sasg Tsel a9g guen
% m-Feufd W F SR

Ufireie wa Ufirenfeed § fafiear 2

(1) UfreufdeT 4 1 - 4 o999 991 1 - 6 B-9EF 7
(2) U e e e | ST R

3) U@ d 154 g7 da 1 > 6 B-aEH 2

(4) UHeNfFEad1 > 4 0 A 1 - 6 a-987
H

2:3 g Wil A qAT 4-5 g AT A I TTg
H,S0, § T3 am W 3cafsia e fasmr st KOH
% B¢ Zhsl ¥ TR a1 8 | STP W = gY 391G
1 WX (g ) qrm

(1 28

(2) 44

(3) 30

4) 14

freafafga @ @ oA Tleuss H gaifus el
TR B ?

(1) BaO

(2) CaO

(3) BeO

(4) MgO

3

4)

(2)

3

(4)

157.

158.

159.

160.

161.

Regarding cross-linked or network polymers,
which of the following statements is incorrect ?

(1)
(2)

Examples are bakelite and melamine.

They contain strong covalent bonds in their
polymer chains.

3

They are formed from bi- and tri-functional
monomers.

(4) They contain covalent bonds between

various linear polymer chains.

Nitration of aniline in strong acidic medium also
gives m-nitroaniline because

(1)

In absence of substituents nitro group
always goes to m-position.

(2)

In acidic (strong) medium aniline is present
as anilinium ion.

(3) In electrophilic substitution reactions

amino group is meta directive.

(4)

In spite of substituents nitro group always
goes to only m-position.

The difference between amylose and amylopectin
is
(1) Amylopectin have 1 — 4 o-linkage and
1 — 6 B-linkage

(2)

Amylose is
galactose

made up of glucose and

(3) Amylose have 1—4 and

1 — 6 B-linkage

a-linkage

(4)

Amylopectin have 1—4 o-linkage and
1 — 6 o-linkage

A mixture of 2-3 g formic acid and 4-5 g oxalic
acid is treated with conc. HySO,. The evolved
gaseous mixture is passed through KOH pellets.
Weight (in g) of the remaining product at STP
will be

(1 28

(2) 44

3 30

4) 14

Which of the following oxides is most acidic in
nature ?

(1) BaO

(2) CaO

(3) BeO

(4) MgO
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162.

163.

164.

165.

166.

et afifsran

MnO, +Cy05 + H* — > Mn2* + CO, + Hy0
% o wgfer Tl 3 R sfere % w8 s
2

MnO; C,07- H'
L 2 16 5
2 5 16 2
3) 2 5 16
4) 16 5 2

srfufsran & f=fefaa & @ - e s1feaw 3care
fomfor % foe sTeert 7,

Ay (g) + By (g) = X, (g)
3= d¥ U9 3 <«

3= 9 g - T
7 a9 wd f= T
1 a9 v 3= T

AH=-XkJ?
1)
(2)
(3)
4)

e TSR ! TRFh |Igdl I AT fohal ST 2,
@ I wife afufsran & fou s1ed-ommy

(1) o g 2

(2) oRafdd Tdl 8

(3) 8@ 3

(4) 3T g @

Xy, Yo 3R XY I 1wy foRioH SHieti &1 Tuma
1:05:1 8 | XY & fwa i e
AH = — 200 kJ mol™! & | X, & 31mae @ i
gt
@)
(2)
3)
(4)
3Tmest g wefleRtor o GENeH U ‘o’ TEfid B
(1) T ved & ge ufeed foagq-am 3
(2) T A % HEY ATHYV Tl

(3) T\ 3Rl & A |

(4) 79 33Tl & T @

800 kJ mol*
400 kJ mol !
100 kJ mol™*
200 kJ mol

162.

163.

164.

165.

166.

For the redox reaction
MnO; +Cy0%” + H'—— Mn®" + CO, + H,0

the correct coefficients of the reactants for the
balanced equation are

MnO; C,07~ H'
1 2 16 5
2 5 16 2
3 2 5 16
@ 16 5 2

Which one of the following conditions will favour
maximum formation of the product in the
reaction,

Ay (g +By(g) = X5(g) A H=-XkJ?
(1) High temperature and high pressure
(2)
3)

4)

High temperature and low pressure

Low temperature and low pressure

Low temperature and high pressure

When initial concentration of the reactant is
doubled, the half-life period of a zero order
reaction

(D
(2)
3
4)

is tripled

remains unchanged
is doubled

is halved

The bond dissociation energies of X,, Y, and XY
are in the ratio of 1: 0-5: 1. AH for the formation
of XY is —200 kJ mol ', The bond dissociation
energy of X, will be

(1) 800 kJ mol*
(2) 400 kJ mol*
(3) 100 kJ mol*
(4) 200 kJ mol™*

The correction factor ‘a’ to the ideal gas equation
corresponds to

(1)

electric field present between the gas
molecules
(2)

forces of attraction between the gas
molecules

3
4)

volume of the gas molecules

density of the gas molecules
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167.

168.

169.

170.

ffafiga foe@at = NaOH twd HCL i fig-fim
Hrgdrsli U 3Tl o {90 & s9mn T B

a. 60 mL M HCI + 40 mL E NaOH
10 10

b. 55 mL M HCI + 45 mL M NaOH
10 10

c. 75 mL % HCI + 25 mL % NaOH

d. 100 mL M HCI + 100 mL M NaOH
10 10

T4 © frgert pH, 1% SR 81 2
(1)
(2)
3
4)

T 6 o

frefafed & @ F9-8 0 | WA H Thed wHa
it wedft 2 2

(1) 3T % 37199 9T Td 37 forg aFi ©
(2) I ARE & AV g |

(3) had AT & IR T

(4) had IR S A GRATT T

NH,, H,, O, @1 CO, % fou aret awea e
HAM: 4-17, 0-244, 136 TS 359 feu wuw ¥ |
fFrfafea & @ =H-H g o8 @ @ gfaa 8 S
77
(1)
(2)
3)
4)

Oy

CO,

Hy

NH,

BaSO, #1298 K W Ja1 # faerar 2-42 x 1073 gL ™!
& | forctaran et (K ) bt =1 &

(feam T 8 BaSO,, 1 Wiek ge9WH = 233 g mol 1)
(1) 108 x 107* mol® L2
(2)
(3)

(4)

1-08 x 10~ mol? L, 2
108 x 1072 mol®2 L2

1:08 x 1071% mo1%2 1.2

167.

168.

169.

170.

Following solutions were prepared by mixing
different volumes of NaOH and HCI of different
concentrations :

a. 60mL M HCI + 40 mLL M NaOH
10 10

b. 55 mL E HCI + 45 mLL E NaOH
10 10

c. 75 mL % HCI + 25 mL % NaOH

d. 100 mL M HCI + 100 mL M NaOH
10 10

pH of which one of them will be equal to 1 ?
(1) d
(2) ¢
3) a
4 b

On which of the following properties does the
coagulating power of an ion depend ?

(D

Both magnitude and sign of the charge on
the ion

(2)
3
4)

The sign of charge on the ion alone
Size of the ion alone

The magnitude of the charge on the ion
alone

Given van der Waals constant for NHg, H,, O,
and CO, are respectively 4:17, 0-244, 1-36 and
3-59, which one of the following gases is most
easily liquefied ?

(1)
(2)
3)
4)
The solubility of BaSO4 water is
2:42x1072 gLl at 298 K. The value of its
solubility product (Ksp) will be

NH,

in

(Given molar mass of BaSO, = 233 g mol 1)

1-08 x 10" mol® L2

(1)
(2)
3)

4)

1-08 x 10 mol® L2
1-:08 x 1072 mol? L2
1-08 x 10719 mol? 1.2
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171. Fefafaa sifufsen sf@en 4 gea 3¢ P, Q 3R R

%! TEATHT :
AIC,

@ + CHyCH,CH,Cl ———5—»
M 0,
———2 __>Q+R
(ii) Hz0*/A

P Q R
CH(CH,), OH
1) @ @ CH,CH(OH)CH,

CH(CHy),
CH; - CO - CH,

Q
Ors

CH,CH,CH;  CHO COOH

NelNeNe
CH,CH,CH;  CHO

(4) CH5CH, - OH

172. f=fafiga # @ F9-m Afe fCacem a3 d%ar

7?
(1) Sish 3T
AT

LEIEERIES)

UEIES

(2)
3
(4)

171.

172.

Identify the major products P, Q and R in the

following sequence of reactions :

Anhydrous
AlCl,
@ + CHzCH,CH,Cl ———=—

@ 0,

P—"—>Q+R
(i1) H3O*/A

P Q R
CH(CH,), OH
(D @ CH,CH(OH)CH,
OH
CH(CH,),
2) @ CH; - CO — CHj
CH,CH,CH; ~CHO  COOH
HeleNe
CH,CH,CH;  CHO

4)

O

) cnen,-on

Which of the following compounds can form a

zwitterion ?
(1) Benzoic acid
(2)  Glycine

Acetanilide

3

Aniline

4)
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173.

174.

175.

176.

T Al C,Hg ffafaa stfufsranst @ Torar 2 -

3Cly/A  Bry/Fe _ 7Zn/HCI
CHy —2>A—2 SB= C

31 ‘C' 8

(1) 3-5H1-2,4,6-TEFANICIASA

(2) p-SHIETEA

(3) o-SHIRIEH

(4)  m-SHRIgE

IHed § Yhfd e Ame fhenstt <t & fiffa g
1 HH-HT HATFATES TRV TgTF Tg7 & 2

@)
(2)
3
4)

N,0
NO
NO,
N505

Afies A I Na @ 1fifspan @™ o o8 B a1 8 qo
PCl, % @1 IfRa @ Wag C a2 | BW C
gHT T W1 § TR HE W SEUYA FeR W

BRI ABANMCHAH &
(1) C,H,Cl, CoHg, C,H;0H
(2) C,H;OH, C,H;ONa, CoH;Cl
(3) C,HsOH, C,H,Cl, C,H;ONa

(4) C,H5OH, CyHg, C,HsCl

BIESIhEA (A) S & gfaeamd= grr 3Tfirfshan s
% Ufeshd SRS ol & W fF gew Itk gm
et gregrpre | afafda g @ foem i am &
e T § | (A) 7

(1) CHy-CH,4

(2)

3

CH,
CH2 = CHz

(4) CH=CH

173.

174.

175.

176.

The compound C;Hg undergoes the following

reactions :

3ClL,/A Br,/Fe 7n/HCI
2L A2 i C

7Hg
The product ‘C’ is

(D
(2)
3
(4)

3-bromo-2,4,6-trichlorotoluene
p-bromotoluene

o-bromotoluene

m-bromotoluene

Which oxide of nitrogen is not a common

pollutant introduced into the atmosphere both
due to natural and human activity ?

(1) N,0
@)
3)
(4)

NO
NO,

NyO5

The compound A on treatment with Na gives B,
and with PCl; gives C. B and C react together to
give diethyl ether. A, B and C are in the order

(1) C,HsCl, CoHg, C,H;0H

(3) C,H5OH, C,H,Cl, C,H;ONa

(4) C,HzOH, C,H, C,HCl

Hydrocarbon (A) reacts with bromine by
substitution to form an alkyl bromide which by
Wurtz

hydrocarbon containing less than four carbon

reaction 1is converted to gaseous

atoms. (A) is
(1) CHs;-CHj4

(2) CH,

(3) CH,=CH,

(4) CH=CH
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171.

178.

179.

180.

FrfaRaa wiefie ® foem i
CN*,CN~, NO da1 CN
T O foradh S=au ey Hife B 2
(1) CN*
(2) CN
(3) CN~
4) NO
Tefifyem wh o (X) A ATk ok wh i
Affs s 7 | IR (X) w1 Faw stawenm ©
S fa=ama 1s? 252 2p3 R, a1 3@ Afi &
T G 7
(1) Mg,X
(2) MggX,
(3) MgX,
(4) MgyXy
TR T A &b q9 W bee TEET 8T 8 | 900°C
IR g fee TCEAT § Rafdd g ST B | TR & FR
% A9 T e T 900°C T T Fcd § AT 8T

(WA <fSTT 3TeRA 1 HieR ge9M™ Td qeT] frsem a
% @y feor §)

3V3
442

(1)

1
(2) 3

£

3 X3

(4)

SEd

fafafad § 9 H9-91 9 @ B 2
1

tol [ty (ALY

(2) d 2 % fIT m % AH YA B |

(3) UH Heweh o Faien el ¥ fféy 3 e
Th T § T Seiag SR FEieH aedsh |
fafde 2 |

‘s Heh T oG H P hHelh IV FaT
I % S R |

7

(4)

177.

178.

179.

180.

Consider the following species :

CN*, CN~, NO and CN

Which one of these will have the highest bond
order ?

(1) CN*
(2) CN
(3) CN~
(4) NO

Magnesium reacts with an element (X) to form an
ionic compound. If the ground state electronic
configuration of (X) is 152 2¢2 2p3, the simplest
formula for this compound is

(1) MgoX

(2) MggX,

(3) MgX,

(4) MgoXs

Iron exhibits bce structure at room temperature.
Above 900°C, it transforms to fec structure. The
ratio of density of iron at room temperature to
that at 900°C (assuming molar mass and atomic
radii of iron remains constant with temperature)
is

3V3
442
1

(2) 0

43
3v2

J3

J2

Which one is a wrong statement ?

(1)

(1

6))
4)

The electronic configuration of N atom is
162 252 2P} 2py 2p,

tol [ty (ALY

The value of m for dZ 9 is zero.

(2)
(3) An orbital is designated by three quantum
numbers while an electron in an atom is
designated by four quantum numbers.

4)

Total orbital angular momentum of electron
n ‘s’ orbital is equal to zero.
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Read carefully the following instructions :

1. Each candidate must show on demand his/her

L t@ H W Sl.i Ih qﬁ?m@ﬁ, rlieres =l a1 Admit Card to the Invigilator.
NCRIRCE ﬁ@'rq“
! . No candidate, without special permission of
9. arefieres o frferes i fasi 343"4'&1 ¥ forr the querintendent or Invigilator, would
Eﬁé e W T B | leave his/her seat.
. . The candidates should not leave the
3. HRg e + 31 IW A ﬁ{Q for uq Examination Hall without handing over their
Iuferfagas @ AN BEAIER feru fomm =8 Answer Sheet to the Invigilator on duty and
wfemelf wfien wfer =g ?ﬁ@ﬁ | 'ﬂﬁ{ et sign the Atten.dance Sheet tvvl'ce. Cases
w3 ar e = where a candidate has not signed the
& . i3 r ) Attendance Sheet second time will be
gEaTer g ﬁﬁq a REJUIRIRSILY for 3@ deemed not to have handed over the
S UA q'gi"f et % AR I3 313'%!?[ agq Answer Sheet and dealt with as an
hHT HTHAT WHT SATUT | unfair means case.
e o o ¢ . Use of Electronic/Manual Calculator is
4. SAFCIHh/[ETHTAd TlLeheTeh bl IUINT JIS(d -
% prohibited.
|
. The candidates are governed by all Rules and
5. Tegia ° = & foru ghemeff qfierm < Regulations of the examination with regard to
ot QEI et e fafim & ) 313[&[?1 their conduct. in the Exe.xmmatlon Ha?l. All
S S g qle % cases of unfair means will be dealt with as
FIT‘?'F-I . . & per Rules and Regulations of this
i ud faf-remi < SafeCSIRN @TIT | examination.
6. frell ot grea d qdien jl(;\ddwl 3T 3¢ g3 |6 No part of the Test Booklet and Answer Sheet
F ﬁé AT 37T T L | shall be detached under any circumstances.
. . The candidates will write the Correct Test
7. qﬁ&ﬂ EIEEIEBIEEI( EER %quﬁm gliilﬂ;! Booklet Code as given in the Test
Hehd Rl qlraqreft Fl@ o 9 Iufeafaases o Booklet/Answer Sheet in the Attendance
fag | Sheet.
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